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BSNL LICE JTO

FINAL ANSWER KEY

Section - I (General English & General Studies)

Q.No: 1

"Read the following passage and answer the questions that follow.

1. What makes a place sacred? A place where meditation is practised over
many years automatically acquires certain powers. The place gets charged
with the energy and vibrations from peaceful thoughts. Depending on the
intensity of meditators, the sanctity and power of a particular place can
thus remain charged, exuding powerful vibrations, for thousands of years.
The Parshvanath Hills is one such place. Twenty-two of the 24 Jain
Tirthankaras attained nirvana on this hill, and these enlightened persons
were separated by thousands of years.

2. When a Tirthankara leaves his body, the equivalent of an atomic
explosion takes place. The energy that united body and soul is released.
This power is dispersed on the hill. The whole atmosphere and
surroundings get surcharged. What the Parshvanath Hills are to the Jains,
the Ganga is to the Hindus.

3. Lord Krishna said, "Among the armed, I am like Ram; I am like a
crocodile among fish and the Ganga among rivers. Dear Arjuna, I am the
beginning, the end and even the middle of existence”. The symbolism of
the Ganga is worth understanding. Take away the Ganga from India and
all the literature of India will become incomplete. Take away the Ganga
and the names of many sages will perish; the spirit of pilgrimage will be
lost. The Ganga has become the symbol of our collective spirit.

4 What is so special about the Ganga? There are rivers that are much
longer, wider, larger, than the Ganga on this planet - the Brahmaputra,
the Amazon, the Nile and the Hwang Ho... There is something unique
about the Ganga that is not found in any of these great rivers: despite all
the pollutants being pumped into the Ganga, it has somehow managed to
maintain its relative purity. Chemically, it contains extraordinary
properties —— its water does not putrefy or deteriorate even if kept bottled
for long, unlike the water from other rivers. It is interesting to know that
the water of the Ganga has properties different from those of other rivers
but which seem to undergo a mystical change once they flow into the
Ganga’s waters. This is a mystery that even science has not been able to
understand, as yet."

The place which acquires strong powers is

Where music is played

Where meditation is practised

Where there are idols and statues

O 0O m|>r

None of the above

Correct Answer




Q.No: 2

"Read the following passage and answer the questions that follow.

1. What makes a place sacred? A place where meditation is practised over
many years automatically acquires certain powers. The place gets charged
with the energy and vibrations from peaceful thoughts. Depending on the
intensity of meditators, the sanctity and power of a particular place can
thus remain charged, exuding powerful vibrations, for thousands of years.
The Parshvanath Hills is one such place. Twenty-two of the 24 Jain
Tirthankaras attained nirvana on this hill, and these enlightened persons
were separated by thousands of years.

2. When a Tirthankara leaves his body, the equivalent of an atomic
explosion takes place. The energy that united body and soul is released.
This power is dispersed on the hill. The whole atmosphere and
surroundings get surcharged. What the Parshvanath Hills are to the Jains,
the Ganga is to the Hindus.

3. Lord Krishna said, "Among the armed, I am like Ram; I am like a
crocodile among fish and the Ganga among rivers. Dear Arjuna, I am the
beginning, the end and even the middle of existence”. The symbolism of
the Ganga is worth understanding. Take away the Ganga from India and
all the literature of India will become incomplete. Take away the Ganga
and the names of many sages will perish; the spirit of pilgrimage will be
lost. The Ganga has become the symbol of our collective spirit.

4 What is so special about the Ganga? There are rivers that are much
longer, wider, larger, than the Ganga on this planet — the Brahmaputra,
the Amazon, the Nile and the Hwang Ho... There is something unique
about the Ganga that is not found in any of these great rivers: despite all
the pollutants being pumped into the Ganga, it has somehow managed to
maintain its relative purity. Chemically, it contains extraordinary
properties —— its water does not putrefy or deteriorate even if kept bottled
for long, unlike the water from other rivers. It is interesting to know that
the water of the Ganga has properties different from those of other rivers
but which seem to undergo a mystical change once they flow into the
Ganga’s waters. This is a mystery that even science has not been able to
understand, as yet."

The Ganga symbolises

purity

Faith

collective spirit

OO m| >

All of the above

Correct Answer

D

Q.No: 3

"Read the following passage and answer the questions that follow.

1. What makes a place sacred? A place where meditation is practised over
many years automatically acquires certain powers. The place gets charged
with the energy and vibrations from peaceful thoughts. Depending on the
intensity of meditators, the sanctity and power of a particular place can
thus remain charged, exuding powerful vibrations, for thousands of years.
The Parshvanath Hills is one such place. Twenty-two of the 24 Jain
Tirthankaras attained nirvana on this hill, and these enlightened persons
were separated by thousands of years.




2. When a Tirthankara leaves his body, the equivalent of an atomic
explosion takes place. The energy that united body and soul is released.
This power is dispersed on the hill. The whole atmosphere and
surroundings get surcharged. What the Parshvanath Hills are to the Jains,
the Ganga is to the Hindus.

3. Lord Krishna said, "Among the armed, I am like Ram; I am like a
crocodile among fish and the Ganga among rivers. Dear Arjuna, I am the
beginning, the end and even the middle of existence”. The symbolism of
the Ganga is worth understanding. Take away the Ganga from India and
all the literature of India will become incomplete. Take away the Ganga
and the names of many sages will perish; the spirit of pilgrimage will be
lost. The Ganga has become the symbol of our collective spirit.

4 What is so special about the Ganga? There are rivers that are much
longer, wider, larger, than the Ganga on this planet - the Brahmaputra,
the Amazon, the Nile and the Hwang Ho... There is something unique
about the Ganga that is not found in any of these great rivers: despite all
the pollutants being pumped into the Ganga, it has somehow managed to
maintain its relative purity. Chemically, it contains extraordinary
properties —— its water does not putrefy or deteriorate even if kept bottled
for long, unlike the water from other rivers. It is interesting to know that
the water of the Ganga has properties different from those of other rivers
but which seem to undergo a mystical change once they flow into the
Ganga’s waters. This is a mystery that even science has not been able to
understand, as yet."

Find the word in the passage which is used for "to make worse".

A Different

B deteriorate
Cc bottled

D mystical
Correct Answer (B

Q.No: 4

"Read the following passage and answer the questions that follow.

1. What makes a place sacred? A place where meditation is practised over
many years automatically acquires certain powers. The place gets charged
with the energy and vibrations from peaceful thoughts. Depending on the
intensity of meditators, the sanctity and power of a particular place can
thus remain charged, exuding powerful vibrations, for thousands of years.
The Parshvanath Hills is one such place. Twenty-two of the 24 Jain
Tirthankaras attained nirvana on this hill, and these enlightened persons
were separated by thousands of years.

2. When a Tirthankara leaves his body, the equivalent of an atomic
explosion takes place. The energy that united body and soul is released.
This power is dispersed on the hill. The whole atmosphere and
surroundings get surcharged. What the Parshvanath Hills are to the Jains,
the Ganga is to the Hindus.

3. Lord Krishna said, "Among the armed, I am like Ram; I am like a
crocodile among fish and the Ganga among rivers. Dear Arjuna, I am the
beginning, the end and even the middle of existence”. The symbolism of
the Ganga is worth understanding. Take away the Ganga from India and
all the literature of India will become incomplete. Take away the Ganga
and the names of many sages will perish; the spirit of pilgrimage will be
lost. The Ganga has become the symbol of our collective spirit.




4 What is so special about the Ganga? There are rivers that are much
longer, wider, larger, than the Ganga on this planet — the Brahmaputra,
the Amazon, the Nile and the Hwang Ho... There is something unique
about the Ganga that is not found in any of these great rivers: despite all
the pollutants being pumped into the Ganga, it has somehow managed to
maintain its relative purity. Chemically, it contains extraordinary
properties —— its water does not putrefy or deteriorate even if kept bottled
for long, unlike the water from other rivers. It is interesting to know that
the water of the Ganga has properties different from those of other rivers
but which seem to undergo a mystical change once they flow into the
Ganga’s waters. This is a mystery that even science has not been able to
understand, as yet."

Who does Lord Krishna compare himself to among deities?

A Krishna
B Ram

C Arjun

D

None of the above

Correct Answer

Q.No: 5

"Read the following passage and answer the questions that follow.

1. What makes a place sacred? A place where meditation is practised over
many years automatically acquires certain powers. The place gets charged
with the energy and vibrations from peaceful thoughts. Depending on the
intensity of meditators, the sanctity and power of a particular place can
thus remain charged, exuding powerful vibrations, for thousands of years.
The Parshvanath Hills is one such place. Twenty-two of the 24 Jain
Tirthankaras attained nirvana on this hill, and these enlightened persons
were separated by thousands of years.

2. When a Tirthankara leaves his body, the equivalent of an atomic
explosion takes place. The energy that united body and soul is released.
This power is dispersed on the hill. The whole atmosphere and
surroundings get surcharged. What the Parshvanath Hills are to the Jains,
the Ganga is to the Hindus.

3. Lord Krishna said, "Among the armed, I am like Ram; I am like a
crocodile among fish and the Ganga among rivers. Dear Arjuna, I am the
beginning, the end and even the middle of existence”. The symbolism of
the Ganga is worth understanding. Take away the Ganga from India and
all the literature of India will become incomplete. Take away the Ganga
and the names of many sages will perish; the spirit of pilgrimage will be
lost. The Ganga has become the symbol of our collective spirit.

4 What is so special about the Ganga? There are rivers that are much
longer, wider, larger, than the Ganga on this planet - the Brahmaputra,
the Amazon, the Nile and the Hwang Ho... There is something unique
about the Ganga that is not found in any of these great rivers: despite all
the pollutants being pumped into the Ganga, it has somehow managed to
maintain its relative purity. Chemically, it contains extraordinary
properties —— its water does not putrefy or deteriorate even if kept bottled
for long, unlike the water from other rivers. It is interesting to know that
the water of the Ganga has properties different from those of other rivers
but which seem to undergo a mystical change once they flow into the
Ganga’s waters. This is a mystery that even science has not been able to
understand, as yet."




The literature of India is incomplete without the mention of which river?

A Hwang Ho

B Nile

C Brahmaputra
D Ganga
Correct Answer (D

Q.No: 6 The jumped through the round hoop.
A Wrestler

B Gymnast

C Cyclist

D Boxer
Correct Answer |B

Q.No: 7 She bought a pair of new sports shoes the Bata Shoe Company.
A At

B From

Cc In

D For

Correct Answer |B

Q.No: 8 This novel is interesting.

A Very

B Many

Cc Much

D Some

Correct Answer A

Q.No: 9 Is______ method the only solution to the problem?
A These

B Those

C This

D The

Correct Answer |C

Q.No: 10 Twice the amount means the price.




A Triple

B Double

Cc Four times

D Same

Correct Answer |B

Q.No: 11 Itis white elephant.

A An

B A

C Any

D The

Correct Answer |B

Q.No: 12 It was a shock to him.
A Quite

B Some

Cc An

D More

Correct Answer A

Q.No: 13 They visited Taj Mahal.
A A

B An

C The

D None of the above

Correct Answer |C

Q.No: 14 Dilip is honest person.
A A

B One

Cc The

D An

Correct Answer (D

Q.No: 15 She has not solved sums.
A Any
B Many




C One

D All

Correct Answer |B

Q.No: 16 He finally reading all of those documents last night.
A Had finished

B Finished

C Is finishing

D Am finishing

Correct Answer A

Q.No: 17 They all together in college.
A Is studying

B Are studied

C Studied

D Studys

Correct Answer |C

Q.No: 18 The new work schedule ______ released yesterday.
A Is

B Was

C Will be

D should be

Correct Answer |B

Q.No: 19 We should never board a vehicle.
A Stationary

B Sedentary

C Moving

D Standing

Correct Answer |C

Q.No: 20 Acquiring means
A To lend

B To obtain

C To enquire

D To acquit




| Correct Answer |B

Q.No: 21 ____ candidate do you think we should hire for the Job ?
A Whom

B Who

C Which

D When

Correct Answer |C

Q.No: 22 Pick the suitable word for a specialist in heart diseases:
A Pathologist

B Cardiologist

C Paediatrician

D Dentist

Correct Answer |B

Q.No: 23 Pick the synonym for a catastrophe:
A Disaster

B Death

C Trophy

D Catalyst

Correct Answer A

Q.No: 24 Pick the antonym for haphazard:
A Disorganised

B Systematic

Cc confused

D Random

Correct Answer (B

Q.No: 25 Both Radha and Ria

A Are participating today.
B Is not participating.

C Will participating.

D Participated tomorrow.

Correct Answer A




Q.No: 26 | Which Acid is present in Tomato? AR H P 1 3 grar %?
A Citric Acid RieRe s

B Oxalic Acid Sffeifere TRrS

C Lactic Acid dffes TR

D HCL T

Open Question (For Question declared open every candidate to get 1 Mark)

. In which pH range does our body grararur § Sfifad T84 & fore gaR TR
Q.No: 27 Lo
work to survive in the atmosphere? fog lerE[ TR R PR Bl %?
A 5.5 to 8.5 5.5 3 8.5
B 7.0to 7.8 7.047.8
C 2.3t0 7.0 2.3%7.0
D 7.5to 12.5 7.59 12.5
Correct Answer (B
. What is the chemical formula of POP DCTBﬁTﬁ(W 3HH %rh;r) Eal q?‘l'{?ﬂ E2)
Q.No: 28 )
(Plaster of Paris)? g2
A CaS04.2H20 CaS04.2H20
B CaS04.3H20 CaS04.3H20
C CaS04.1/2H20 CaS04.1/2H20
D CaC03.1/2H2 CaC03.1/2H2

Correct Answer

C

Rihaan can use any source of energy
for cooking, but he wants to avoid

: S|
O Wiich of these sources shouid ne use | 4 U511 9 ) 46 7 e
for cooking?
A coal DI
B electricity faggd
C petroleum Oeiferm
D wood GCEl
Correct Answer |B
No: 30 Whhich olz_thesiz proceshses exlplains =70 9§ o9 O ufdan RSddd gfe wie
Q.No: 'chlsn\év?or ing of a geothermal power P SHTRITOTER B gRUIRT HRdT 22
A use of potential energy to produce Idlcd & forg U rRad Qﬂﬁﬁﬁ JUTRT




electricity

B use of t_hermal energy to produce Jare ¥ fw ofe Q:lx_rffm STANT
electricity

C use of I_<|net|c energy to produce Jare ¥ fu sEAke Q:W:'ﬁﬁ ST
electricity

D use of t_|daI energy to produce W*WWWWW
electricity

Correct Answer (B

. . 9 & ¥ o9 ¥ 9gg Pt @y wnph &t
. Which group of waste materials can M P  rifepd 13
Q.No: 31 be classified as non-biodegradable? - LALE! ot
Tl 82

A plant waste, used tea bags qiyT 3rafy, IuanT fHu U & 5

B polyethene bags, plastic toys qiferf 9w, wifes & f{dH

C used tea bags, paper straw IUAT faru T & ov, O @ T

D old clothes, broken footwear RME $HUS,gC §U I

Correct Answer

Hhrougn 2 certain angle, the refiected | S X 31 Fel R or o g
Q.No: 32 9 gie, ST ©, wfafafad o g die adt ?
ray turns through twice as much as IR W BT PR Bl &
the angle and the size of the image:
A is doubled U
B is halved STt
Cc becomes infinite Sfifira | o 8
D remains same A Yedl %
Correct Answer (D
The present president of India, Smt. R WW sfrafy 2o
Q.No: 33 Draupadi Murmu, was earlier the g QTEI ol W,?ﬁ Y
Governor of
A Odissa Igr=m
B Jharkhand EIRCES
C West Bengal BIEEEUIG
D Tripura EIN
Correct Answer (B

. Which among the following is the Y TR 3en 5
Q.No: 34 origin of Damodar river ? GEER T T WW%
A Greater Himalaya e feHTem
B Kumaon Himalaya W feaTer™a




C

Sahyadri hills

SRRIFR IR

D

Chota nagpur

BleT AR

Correct Answer

D

Which of the following Mountain

0 ¥ B 91 udd R_f YRd, 3T 3R

BN dinching and Myanmar? | R B SR T €2
A Nathu La iy dr

B Jelep La Sy o

C Bomdi La CIESIS]

D Diphu Pass 4% U

Correct Answer (D

Which of the following hill stations is

T8 ¥ 5y UgTEt ®d &Y "qAgST Bt

Q.No: 36 referred to as "Queen of Satpura"? I BT ST 872

A Amarkantak 3RbHch

B Pachmarhi e

C Yusmarg qamf

D Palampur UTeTHYR

Correct Answer B

Q.No: 37 Which of the following river is 30 § B I e YR qewd § gitferd
integrated into the Thar desert? Bt 82

A Mahi gt

B Luni [5Gl

C Tapi ardt

D Narmada qrar

Correct Answer B

Q.No: 38 Shaheed.Dweep was formally known Y@E@ﬁ“ﬁﬂﬁﬁﬁ?ﬁﬁﬁ?ﬂﬂmﬁ
as by which of the following name? ST SITdT YT1?

A Ross island RES| 311'&%@’

B Neill island ESEEIERS]

C Outram island e IS

D Havelock island 2adl® MRS

Correct Answer




Q.No: 39 Which of the following waterways TR P I TTHN HRT BT i I
separates India from Sri Lanka? faurforg ®war g2

A 80 Channel 80 o a

B 100 Channel 100 I=d

C Palk Strait Ui ¥

D Duncan Passage S T

Correct Answer

C

"Vayam Rakshamah" or "We Protect"
is the theme of which armed force of

"SI I&H:" YT "8H &1 B & 390 I

Q-No: 40 Indin? B A YR I 1 67 R 2
A Indian Coast Guard YR dc &

B Indo-Tibetan Border Police g8l- fagdd IeR

C Assam Sentinels 39 I

D Border Security Force T JRam

Correct Answer

A

Which Union Ministry launched the

D I ST HAGT 7 "gIDdl WL

Q.No: 41 'Swachhata Start-Up Challenge'? T P URY farar g2

A Ministry of Housing & Urban Affairs | 39T Td gt AT HATGY

B Ministry of Rural Development grior faer Hare™

C Ministry of Agriculture PN HATC

D Ministry of Home Affairs e HATTY

Correct Answer A

. Pandit Birju Maharaj, whq passe(_j RIS R, et BTa & & Few

Q.No: 42 alwh?cyh r((je;ﬁzél?y, was associated with el %ﬁ% I 3 TG A2

A Kathak DD

B Bharatanatyam HIATAH

C Kuchipudi PiIgs!

D Mohini Aattam gt ergd

Correct Answer (A
A candidate attempted _12 questions & IR 3 T § 12 Uy g fhu
and secur_ed full n:alfks in all of them. GﬁTB:Iﬁ@ 3 U fpul afe I gt

Qoi43 | Ifhegptane 60% in e testand il gon, i e o oA v %
what is the number of questions in %$§[gﬁiqﬁ P a’ aft e H w1

the test?




A 36 36
B 30 30
C 25 25
D 20 20
Correct Answer (D
A cuboid has six sides of different v aqzu’rqtc; A 3T T T ) BE TaE
colours. The red side is opposite to Eﬂ'cﬂ%‘l WWWW%W%I
black. The blue side is adjacent to g The ag : S
Q.No: 44 white. The brown side is adjacent to m ¥ Ty ﬁ%ifﬂlgfq ﬁ%%{@, E:ﬁﬁi &
blue. The red side is face down. % E E. % HENIN e ¥ Eﬂgﬂ
Which one of the following would be ! NEE @ e
the opposite to brown? grft?
A red NI
B black BTl
C white g
D blue et
Correct Answer |(C
A man fills a basket with eggs in such
a way that the number of eggs added % AT Tt § S =7 aRE ST &
on each successive day is the same & g o7 1@ TTU Sie) @l T St B
Q.No: 45 as the number already present in the R ofe] & Wel % weR e 21 59
basket. This way the basket gets Y T 24 R B @ R ST 2]
completely filled in 24 days. After mﬁ% fet 5 it
how many days the basket was 1 / ste 1/4
4th full?
A 6 6
B 12 12
C 17 17
D 22 22
Correct Answer (D
A oo e ¢ s e of frent |l g e g 3. R
Q.No: 46 |different sums of money the person can % T a0 3 &fé@ﬁﬁ&%ﬁ EI%TT
form (using one or more coins at a > ?(UP 1 TP
time)? gq)
A 16 16
B 15 15
C 12 12
D 11 11

Open Question (For Question declared open every candidate to get 1 Mark)




Running at a speed of 60 km per 60 fo. 4. Tfa HeT Bt THAR T ared §T

Q.No: 47 hour, a train passed through a 1.5 T I@me! 1.5 . 1. Wﬁ?ﬂ&ﬁ?ﬁ

B km long tunnel in two minutes. What |fFe & UR $3dt 21 Yerme! 5t Bt deTs T

is the length of the train? grft?

A 250m 2504

B 500m 5004

C 750m 7504

D 1000m 10004

Correct Answer (B

A person travels 12 km due North,
then 15 km due East, after that 15

T afad 12 fb. . SR o & =aan g,
3I9% gyTq 15 .. gd fe=m o aear

Q.No: 48 km due West and then 15 km due 3I9¥ Uy 15 .1, ufdem fwn & T
South. How far is he from the 2 3R IUF usETq 15 fp. Y. afdror f=m &
starting points? T &, A URY ¥ R ¥ e R 27

A 3 3

B 6 6

C 12 12

D 15 15

Correct Answer (A

There are seven persons up on a
ladder, A, B, C, D, E, Fand G (not in
that order). A is further up than E
but is lower than C. B is in the

. Y

Q.No: 49 middle. G is between A and B. E is 2 N oR TG U A R AR T, §
between B and F. If F is between E | 3R St & 77 & g dl oY HI9al UM WR
and D, the person on the bottom Hfad gRm
step of the ladder will be

A B at

B F %

C D Sl

D E 3

Correct Answer |(C
As per agreement with a bank, a
businessman had to refund a loan in %$W”§Q?Tq@%$ 3R, U
some equal installments without Wﬁﬁm%wﬁ;&?ﬁﬁﬂ

QMo 50 et 60 percent of his loan |1 T A | 18 e & He I
was refunded. How many wﬁﬁ; goﬁ% Wﬂﬁaﬂa o Epfﬂﬁ !
installments were there in the
agreement?




A 22 22
B 24 24
Cc 30 30
D 33 33
Correct Answer |C

Section - II (Technical Paper)

A stack organised computer is

Q.No: 51 WP IS HIYLR T ol § e
R characterised by instructions with gRIT
A Zero addressing SRy TsRi
B Indirect addressing ST TR
C Direct addressing STRTE TSR
D Index addressing ORI TSR
Correct Answer (A
Which of the following affects the <7 @ B 91 HRRAT UfaR W gHE
processing power assuming they do =TT T
Q.No: 52 not influence each other. 1. Data bus Erﬂ-rrﬁﬁ%:l}'?ﬂﬁl ?;ﬁgﬁwééﬁz
capability. 2. Addressing scheme 3. . 5 L 5 )
Clock speed. 13“ 3. ®dld
A 3 only $ad 3
B 2 and 3 only Fad 2 3R 3
C 1 and 3 only Fad 1 3R 3
D 1,2and 3 1,2 3R 3
Correct Answer (D
Statements associated with registers m Forex T wafE :
Q.No: 53 of a CPU are given. Identify the false o $$2F[ 1 qﬁjﬁl F ey T B
statement.
An instruction in the instruction WWﬁwﬁ SfgEE ok
A register consists of the opcode and u“;‘. : [ﬁ% :
the operand FEoH '@ﬁ%’l
The program counter holds the WW$WQ@ﬁW
B memory address of the instruction in qo|:%c< e BT %I
execution. e
c Only opcode is transferred to the Held g Bl Had SHUdble TRHR gidl
control unit. %I
The value of the program counter is 9T FTEER & aa 19 9 o & o
incremented by 1 once its value has =g WQ@HW
D been read to the memory address %I a?g qqqgﬁ el

register.




| Correct Answer |B

Q.No: 54 Both EPROM and EEPROM are EPROM 3fR EEPROM &
A Sequential access memory R TRy AaR!

B Random access memory IsH QER?F E=pIRy |

C Volatile memory CINEENREEIR]]

D Destructive memory fSxcfaca Okt

Correct Answer

In high level programming language

I TR TR HIST URebd |, END

Q.No: 55 Pascal, END statement lasts with WW%W&W@%

A Colon GG

B Full stop %d ¥

C Semicolon R EICANG]

D Double quotation marks TSI B A

Correct Answer B

Q.No: 56 Which program is used by web REEREREREIRCE I R R
clients to view the web pages? F fow H1 TN forar S g1

A Web browser 99 §I3oR

B Protocol PIEEI]

Cc Web server 99 gaR

D Search Engine BEREER]

Correct Answer (A

Q.No: 57 __ isused to find and fix bugs in wmﬁwaﬁgﬁ 3R fhey A
the Java programs. & forg H1 IUTNT foHar ST g

A VM STy

B JRE EEILE]

Cc JDK Selh

D JDB SStet

Correct Answer (D

Q.No: 58 Which of the following statements is | -icd® 89 & forg g & @ &H 91 By
true for network hub? Id 2

A A !'\ub connects different stations in a q@z@mﬁwﬁfw@mﬁﬁeﬁw
private network. %I

B It sends data packets to the intended




recipient.

TS Wiftde &I I8 STeT Ipe VefdT 3|

It contains two ports: one for input

39 31 U1 BId §: U $7YC o g 3R

¢ and other for output. QIR 3M3cyc & |
D It works at the network layer Tg cadh AR R B BT 8
Correct Answer (A
Q.No: 59 The data-link layer is responsible for |greT foi @R IR @
A Incoming bit stream and simply ERCAGURCH Rﬁ'ﬁ[ 3R WYRU: 3T \_{lﬁ
repeats to other devices connected Y JUHN & o SIeTd B
An error free communication across Acad ¥ MR 1R g 9 q@ TS
B the physical link connecting primary 3R TFeH R B Tw AV IAed FER
and secondary SR
stations within a network
An end-to-end integrity of data ' - '
C message propagated through the 3 U & g e o U8 ¢ Ug il
network between two Y BT IR
devices
D Logical connection at application layer | TfIBEM AWR W AloBd BRI

Correct Answer

. Which of the following is an : me -
Q.No: 60 important characteristic of LAN? T P LAN > &
A application independent interfaces TEHIH SaUSc Sch I
B unlimited expansion 3Ffafes vaguyH
C low cost access for low bandwidth A Yefiey A6l F R o ohe ey

channels 2
D parallel transmission W@'ﬂﬁlﬂ?
Correct Answer (A
Q.No: 61 IPv6 addresses have a size of: 3TsUtdle TSUY &1 THR BT 6
A 64 bits 64 fac
B 128 bits 128 fac
C 256 bits 256 foc
D 512 bits 512 foe
Correct Answer (B
Which of the following TCP/IP mﬁ@ﬁqmm/mmw
protocol allows an application W%Wﬁmﬁgﬂﬁﬂﬁﬂqﬁ
Q.No: 62 program on one machine to send a TP T R ST UG S
datagram to an application program . %
on another machine? UG ST &
A uDP ggidt




B VMTP digAdidt

C X.25 TRT.25

D SMTP THUHSTT

Correct Answer (A

Q.No: 63 How can we describe an array in the w@ﬁﬁnwﬁmwﬁ
best possible way? Ry fHar S bdr 872

A The Array shows a hierarchical @ STRRIPHd TWHRR @) agfar %I
structure

B Arrays are immutable. W LA g ¢

c Container that stores the elements of | §H YR & ddl Bl TR A ardl
similar types HeR|

D The Array is not a data structure QB\T STl IChTR :@%I

Correct Answer |C

Q.No: 64 \é\{'glcc:ss?r:)ef: i%fsgr;ﬁr:g“:r\:vg;gn;se:m:ein the ?}2{? qeflfe STe #1 ol S 3 a1
stack?

A Insert éﬂ?f

B Add us

Cc Push =

D Pull qd

Correct Answer |C

In the linked list implementation of

F P i fore Swefidce™ o, a1 weitde

Q.No: 65 queue, where will the new element be S sl )
inserted? o e rqr?
A ﬁgtthe middle position of the linked foigp foree % e
B At the head position of the linked list |fad fore & fif )
C At the tail position of the linked list  |fdi® fore & fUwd Wit &
D Any where in the Queue gl it
Correct Answer |C
Q.No: 66 Which data structure is the best for | T AN & H B T STeT LR
B implementing a priority queue? Bﬂﬂ%?
A Stack D
B Linked list feiare fore
C Array W
D Heap




S

Correct Answer

Q.No: 67 Which one qf the fo_IIowing techniques | TSI 'gpf ff g 8 o9 @ aeie &1
is not used in the Binary tree? I H@T Eﬁ?ﬂ %?

A Randomized traversal RERIErS Q'W

B Preorder traversal WeiiSR gravia

C Postorder traversal URe3aR eradd

D Inorder traversal 3?31% ‘gaﬁa

Correct Answer (A
Whigh of the following is used in the <TeTeg Tei Rier A 7T &1 3@”

Qo6 s ™ | 71 7 3 o et o o
system? '

A Data Manipulation language SIcl ﬁﬁgﬁm SICE|

B Data Definition Language gTeT St dae

C Data Control Language STeT FHeld aiasl

D All of the above Sudad Tt

Correct Answer

A

Which of the following commands is | fat t TRaRM & ey § WE ¥4 3§
Q.No: 69 used to save any transaction U9 HA 8g S8 W D W FHE H
permanently into the database? IUANT fam Sar 22
A Commit Fife
B Rollback RGCLT
C Savepoint Jquise
D None of the above SWH § J DTS ol

Correct Answer

A

In the relation model, the relation are

Q.No: 70 generally termed as Ry far S 81
A Tuples [OCINS)

B Attributes ey

C Rows RCS|

D Tables O[]

Correct Answer (D




Q.No: 71 The architecture of a database can be | SeT 99 & 3MBICRR Bl 5 YHR I &I
viewed as the 1 9bhdl g

A One level g dad

B Two-level < dad

C Three-level oft dad
Four level BR ddd

Correct Answer |C
Which of the following keys is 9d & Ay Ra/RawAfRm g & fog

Q.No: 72 generally used to represents the YROr: g & ¥ S I B BT ITn
relationships between the tables? g1 82

A Primary key U B

B Foreign key TR Bt

C Secondary key JH S B

D None of the above IWad § ¥ DI T8l

Correct Answer B
The minimum number of wattmeter B-ﬁv_vr, 3-aRR IS TT 3FAIS UlaR Dl

Q.No: 73 (s) required to measure 3-phase, 3- |HUA & o AdY fdha argdiex(RN) &t
wire balanced or unbalanced power is &nawa?ﬁ %?

A 1 1

B 2 2

C 3 3

D 4 4

Correct Answer B

If an induction type energy meter

g SSaRM TI8Y Hiex aol HEdT 8, O 39

Q.No: 74 runs fast, it can be slowed down by g & grr WWWW%
A Lag adjustment T TSoRede
B Light load adjustment dTsc AIS USoIeHe
By adjusting the position of braking ST B B R B USSR B 3R
C magnet and making it come closer to o ¥ T B B
the centre of the disc
By adjusting the position of braking S CAl R B TesE B
D magnet and making it move away = %?%ﬁm@ ﬁm 3R
from the centre of the disc XK
Correct Answer (D
Low resistance are provided with four | IR efHTcd & Ty o LY UM faar

Q.No: 75

terminals

ST &




A to facilitates the connection of the I IR UICRET Afhey & HaRME B
current and potential circuits IdHG 4T
in order that the resistance value ) )

B become definite irrespective of the | @Xc cHAd $I TPl T UJH = d T
nature of contacts at the current IR Ieg BT VI I 8¢
terminals

c to eliminate the effect of thermo- yrf Ioifacd STATE & UG HI T
electric emfs & 8

D to eliminate the effect of leads e & UHId I JHIE HRA 8

Correct Answer

Maxwell's inductance-capacitance

S VeV S ——

Q.No: 76 bridge is used for measurement of g o 9 fHasd gsovE &1 4 & o
inductance of forar orar §

A low Q coils [l &'C‘LW

B medium Q coils Hifean & Hiae

C high Q coils BT g S

D low and medium Q coils o iR Hifgaw ?:le

Correct Answer B

Q.No: 77 ﬁa\;c:)ltmeter with a broad bandwidth steye fagy AT dieesier F U e 2

A low noise level and high sensitivity | @ A799 idd 3R 818 ARICHAc

B high noise level and high sensitivity |gTs 7199 ddd 3R 8T8 ARICIfact

C high noise level and low sensitivity | gT$ 7199 ddd 3R o ARy

D low noise level and low sensitivity o F1aY Jdad 3R o AR

Correct Answer |C
Frequency counter can be used to )
ot B ez ) A1 ¥ Ry SwET R
1. Fundamental frequency of input STl &

signal
2. Fundamental and harmonic

1. Y Rud &1 heded Widh!
2. g1qc Rywre 1 ewed R gRAMNSD

Q.No: 78 frequencies of input signal HiedT
3. Time interval between two pulses |3, 3l Ul & oI CI5H Scdd
4. Pulse width 4, g fagy
Which of the above statement are Iudad B AT Y T8l 82
correct?

A 1,2,3and 4 1,2,3 30 4

B 1,2 and 3 only Fad 1,2 3R 3

C 2,3 and 4 only Fad 2,3 3R 4

D 1,3 and 4 only Fad 1,3 3R 4

Correct Answer (D




. The total number of possible phase 3 o i Ried & o ST St
Q.No: 79 zsgtueemnciess for a three phase AC Rrbo &t P S %
A 0 0
B 1 1
C 2 2
D 3 3
Correct Answer |C

In delta connection, line currents lags

Soc] HARM H |, AR Hc el die I

Q.No: 80 behind phase current by R fie wEar g

A 30 degree 30 f&ilt

B 60 degree 60 f&ut

C 90 degree 90 &t

D 120 degree 120 f&ht

Correct Answer (A

Q.No: 81 Power factor of an electric bulb is faoTelt & Seq o1 UTeR B A9
A Lagging it

B Leading iRyl

C Unity gfAct

D Infinity iG]

Correct Answer |C

Q.No: 82 :\Ss;epper motor may be considered B A FY T ST TPl %
A dc to dc SRt 9 S

B ac to ac T Tt

C dc to ac SR ¥ wt

D digital-to-analogue fEofted § T

Correct Answer (D

Q.No: 83 ;rrr;i:;:::qgﬂsgse of using core in a mﬁﬁ%mﬂﬁﬂwm%
A decrease iron losses SORA A | H

B prevent eddy current loss TSl DI AN B AbT

C eliminate magnetic hysteresis Mfew R & gara o




D

magnetic circuit

decrease reluctance of the common

HIHT HIfed Bic & RATT Bl HH AT

Correct Answer |D

Q.No: 84 | Increnses when calle ore connectedn |98 90 @1 e & et e & i 79
parallel? aﬁq%ﬁmmsﬁ?ﬁ%{?

A Voltage glecs

B Internal Resistance FeTd Yoy

C Amp Hours g sy

D Current P

Open Question (For Question declared open every candidate to get 1 Mark)

. The electrical appliances in the home, Wﬁﬁ?ﬁﬁmﬁsﬂwﬁﬁ@
Q.No: 85
are connected \_STI?IT%r
in parallel with the source only if it is TR TfaR STHIT
A a high power appliance I & afe a—g %
B in series with the source I & 9 HH °
some in series and some in parallel : . :
C with the source AT & U0 6 HH A R $& JAMR &
D in parallel with the source I & gAAR |
Correct Answer (D
Which of the following factors NI H T TP FRS
influence earth resistance? qUIRT Hea &2
a. Temperature of soil HTUIH:[.
. b. Moisture content of soil 9 ﬁ@ @ e
Q.No: 86 c. Depth at which the electrode is :j;)) mﬁ%gﬁﬁlﬁw RETt a‘«n%l
embedded R R
d. Quality of coal dust and charcoal in @ﬁ) o %31‘*9'5 TI% H PId S IR
the earth electrode pit. RPN Jora
A a, b and c only Fad T, 3R IO
B a, cand d only WQ,@@T@
C a, b, candd T, o, ot 3R &
D a, b and d only Fad T, 3R S
Correct Answer |(C
Which of the following value of AT e :
Q.No: 87 current is minimum for the o mgmmﬁﬁﬁqm
alternating current? LdH '
A Peak value % aeg
B RMS value SRTITY deg




C Mean value HH ag
Peak value, RMS value and the mean ST 33
’ . FC & fau die deg, SIRUHTH
D value are equal for alternating !
current I 3R W 9 9 B
Correct Answer |(C
Q.No: 88 The coefficient of coupling is a factor | ®UfFRAT HURHAT a8 HRS § o
T used when two coils: IR fpaT SraT § o & Hiaed
A girreCLl;li‘ltutually coupled in a magnetic Wqﬁﬁﬁw@@%
B are connected in parallel THIR U ¥ IS §U §
C are connected with a wire IR & 91U IS §U &
D of same value connected with a wire WW%W?IWHW@\_{@%

Correct Answer

A

Q.No: 89 In a LC filter, the ripple factor: T fiheer |, Rud Hae:

A Increases with the load current dAIE B & 1Y Fedl g

B increases with the load resistance s IS & 1Y Fgar §

C remains constant with the load dre e F Q1Y GHM Ed 2
current

D has the lowest value gAdH Ilﬁ(a?g) /A1 8

Correct Answer |C

Q.No: 90 Surge absorbers are used for ol TEeTeR &1 U A 7 § foras

N9 protection against W& & forg grar 8

A High—vc_)ltage low-frequency ETsf IR & WHG SRR
oscillations

B Lovx_/-vo_ltage low-frequency N e @ WH iReRE
oscillations

C Lovx_/-vo_ltage high-frequency A qor fﬂ"ic S SRR
oscillations

D High-vc_)ltage high-frequency T A E’I'&F WS iR
oscillations

Correct Answer |(C

. Which of the following device is éﬁ@%ﬁﬁﬁyﬁ@rﬁqmm

Q.No: 91 . . e .
mainly used in DC drives? HOd: SUIRT BT § ?

A Transistor gifoReR

B Thyristor Y éli&?

C Diode SAS

D TRIAC [€Eca




Correct Answer

_ In which region a transistor acts as  |f%d &3 ¥ gifoRex & 3o+ Rga & &4
Q.No: 92 : :
an open switch? 7 Brf Bt g2
A cut off region FT B Ao
B inverted region gafés oA
C active region Ufdeq oA
D saturated region JaRes do

Correct Answer

A

Q.No: 93 Which of the statement is correct? g 7 o9 1 HYF T8 §?

A NAND and NOR functions are TAUEAS! 3R TSR TR HHgefed
Commutative and Associated 3R Q@ﬁlﬁ%‘s’ %

B Both NAND and NOR functions are | TAUEAS! 3R TSR ST oM =
neither Commutative nor Associative |HWgefed iR A1 & ToiRAes §

c NAND and NOR functions are TIUES! 3R T3NSR HhaRH TORACS &
Associative but Commutative W HEgefed gl §

5 NAND and NOR functions are TAUEAE! 3R TSR HaRM HHgLfed §
Commutative but not Associative q?ﬂ Q@ﬁlﬁ%‘s’ :IEDI %

Correct Answer (D

Q.No: 94 Karnaugh map is used HIRATEG AY IUTNT Bl &

A to minimize the number of flip-flops  |f&fTea Tfdhe # fGau-uaiy &t Twen
in a digital circuit TAdH B 8

B to minimize the number of gates only |%dd fefied Tfdbe & e &t T gATH
in a digital circuits X Bg
to minimize the number of gates and %ﬁlﬁﬂﬁﬁﬁfaﬁa{ﬁw%@ﬂ?

C the fan in requirements of the gates - 3
in a digital circuit 3R & 3! L & ferg

D to design gates e & f&argH %‘gl

Correct Answer (B
If each successive code differs from wwd

Q.No: 95 its preceding code by a single bit gmmﬁ;? mﬁ?ﬁgﬁ?f%
only, then this code is called as ! &

A BCD code et dre

B Gray code DS

C Weighted code dce PIS

D Binary code CIERRECIE]

Correct Answer (B




Choose the correct statement in

Q.No: 96 connection with logic gates Fﬁﬁlﬁﬁ?}[%ﬁﬁﬁsﬂﬁﬁﬂﬁ?ﬁﬂﬂe{

A XOR is universal XOR JfaRud §

B XNOR is a basic gate XNOR 3Ri& e §

C XOR is derived gate XOR 3RIS e §

D XOR is a basic gate XOR aR¥& e %

Correct Answer |C

Q.No: 97 Fan-in an_d Fan-out are the -39 3R -age RAdvard &
characteristics of

A Registers IfoReR

B Logic families ATrore iHfers

C Sequential Circuits e Rua afde

D Combinational Circuit HIFIRAA Ffdbe

Correct Answer |B
According to the IC fabrication 3118 It Hfshe Ufshar & IR difoie

Q.No: 98 process logic families can be divided | Hfafers &1 2l g AR H dier o
into two broad categories as Thdl g oY P

A RTL and TTL JRETTA 3R Eitud

B HTL and MOS TIiud 3R THsHiTy

C ECL and DTL SHTd ok Sidtud

D Bipolar and MOS TPUIR 3R a3

Correct Answer (D

Q.No: 99 A decoder is a Th ShleX §

A Sequential circuit Ry Rra gfdbe

B Synchronous circuit Ry wfhe

C Digital circuit fsforea wfdbe

D Combinational circuit HIGIRAA Ffdhe

Correct Answer (D
The maximum noise voltage that ;

anor 00| Tovppsak e ot o2 b9 S iy s e 7
state of its output is termed as W fecertt

A Noise Margin BRI




B Noise Immunity gl gt
C White Noise CIEGE U]
D Signal to Noise Ratio BPERERSEIR RS
Correct Answer (B
Q.No: 101 Minimum NAND gates required to 81U TSR ¥ 99 &l AR HA 8 FAad
implement sum in half adder TAUEAS! ey P SMauehdl
A 2 2
B 3 3
C 4 4
D 5 5
c

Correct Answer

Q.No: 102 A n“!ultiplexer isf a logic circuit TP A IRR WW?@TCI ISRED
designed to switch I 9 &) g s 5q e smar @

A Single input to several outputs Thd 1Y T 3P 3HI3cYc & fag

B several inputs to single outputs 3P TYC § THd HT3CYe & forw

C Single input to single output Uehd 37Y¢ ¥ Uhd 3T3CYC & ol

D Several inputs to several output 3% TTYC I 31 3H3CYC b T

Correct Answer B

Q.No: 103 The fastes_t type of Analog to Digital T ¥ fefoed w-adk &1 digay ueR/
converter is HEL %

A Counter type CARECEL

B Tracking type E‘%‘T CIEL

C Successive approximation type IR TRIRIARE <8y

D Parallel comparator type TRl HHIRER GEES

Correct Answer

D

In a low-level AM system, amplifiers

o I AM JUTTet H, HISAcS SR &l

Q.No: 104 Ec;llowmg the modulated stage must SR PR AT TR e
A linear devices AR IuHRT

B harmonic devices BRUMM® ITHT

C class C amplifiers FTg I T

D nonlinear devices A1 AR Iuer

Correct Answer

A




Q.No: 105 In the spectrum of a frequency- Wiedl HiSYelcs 99 & WagH
modulated wave

A the carrier frequency disappears H@ﬁ%@%@@ﬁ@ﬂ%?ﬁw
when the modulation index is large EF?[W I B S §

B the amplitude of any sideband ot off Tsds & tkileas Aisyas
depends on the modulation index e R AR g g

C the total number of sidebands ﬂﬁ@é@ﬁwﬂwu@ﬁmﬂs@ww
depends on the modulation index R gl %
the carrier frequency cannot : :

D disappear SRR WIS Tt 8 gl

Correct Answer (B
Since noise phase-modulates the FM ﬁ[ﬁ? > ;

o= 199 Wol THUH dd § Sadd Hdl

Q.No: 106 wave, as the noise sideband g, 9 € Ao qrEess Wi HRW
frequency approaches the carrier uﬂﬁwaﬁﬁ% a‘ramwﬂas
frequency , the noise amplitude !

A remains constant AT Xgdl %

B is decreased &H 8 o1 8

C is increased §@ SIldl %

D is equalized ISR 1 AT &

Correct Answer (B

Indicate the false statement. In order

TTAd HYU I G | I DI HH A B

Q:.No: 107 to combat noise, ferg,
A Fhe channel bandwidth may be %ﬂﬁé@ﬁguﬁmww%
increased N
B redundancy may be used JeT3T &1 IuTT fHar &1 ghdn §
C Fhe transmitted power may be =TI E UfaR @Y ST S el %
increased ”
D the signaling rate may be reduced RufeiT Ye & &1 fear o Jedr §
Correct Answer (A
Q.No: 108 In order to reduce quantizing noise, | BTHCIZNIT AITT B HH HIH & AU
B one must HAg D %
increase the number of standard o ‘I‘Fﬂ'@;&‘? T W\v
A amplitudes 3!
send pulses whose sides are more WW@TWW@,@W
B .
nearly vertical [ERIRSIY
C use an RF amplifier in the receiver w H SRE® W B1 JURT fom
D increase the number of samples per ﬁwmmﬁmﬁq@ﬁ

second

Correct Answer

A




Q.No: 109 The biggest disadvantage of PCM is | fRRfiuA &7 Gad ST oM §

A its inability to handle analog signals | TATANT Tl &1 THTEA & rgHAdT

B the high error rate which its TABH] BT TSN Aael gRT Sa@d Ffedr
quantizing noise introduces P I R

C its incompatibility with TDM ISIUH & 1Y 3P AR
the large bandwidths that are Fefye g% AT &

D required for it. a:cﬁ M s ferg %

Correct Answer (D
A scheme in which several channels | T& dioHT fo 9 3 ERCARC RPN

Q.No: 110 are interleaved and then transmitted | (3cxdlIe8) b 3R THHAT ®0 J U
together is known as a1 SITaT 81 39 BT ST

A frequency-division multiplex Tl l-fefasq A Twe

B time-division multiplex TgA-fefaem aiway

C a group U g

D a supergroup RESERRL

Correct Answer (A

Q.No: 111 Time-division multiplex T1gH fSdioH A iey

A can be used with PCM only % T UGS 3 Ay FURT foha o
combines five groups into a v :

B supergroup uTe YRl 1 AR U YR g S §

C stacks 24 channels in adjacent Y T Wi Wie d 24 a &I gl
frequency slots CRIGI

b Interleaves pulses belonging to faftrd ciafiee & defa
different transmissions SAuiAd(Sediod)ucd

Correct Answer (D
The essential condition for total fied BrER & siiafe Rodae

. internal reflection to take place within 1 Tﬁ PPNV b

Q.No: 112 LS < e 2 gl | o9 sHey Wid g &
the optical fiber is when the incidence P T 3?1 ¥ o1 ar \‘:ﬂ?ﬂ%
angle exceeds the specified value of (d<9)

A critical angle fhdiemd TIa

B refraction angle e Tra

C reflection angle NoaRe Ta

D acceptance angle TRy W

Correct Answer

A




Q.No: 113 VLF waves are used for some types | & UHR &I Jarsil & U dueauw d0
of services because of &1 IYANT fbar Srdm g Hife
A the low powers required PH TlaR B IS 8l &
the transmitting antennas are of St G TS SHR :
B convenient size = ﬁﬁ & E’ﬁ %
C they are very reliable 3 9gd fayaaa g §
D they penetrate the ionosphere easily |3TIFRGBIER &I AT A Ve Thd &
Correct Answer |C
Q.No: 114 High-frequency waves are g8 Wied! 9d gldt &
A absorbed by the F2 layer T2 AR gRIT gid
B reflected by the D layer S R gR1 uRafdd
capable of use for long-distance o . AR i
c communications on the moon WWFI’@[@% H e
D affected by the solar cycle HieR gRfed ¥ gyifad
Correct Answer (D
_ Frequencies in the UHF range JuIU 3o § wiedl 9 arem ¥ Hadt
Q.No: 115 :
propagate by means of %
A ground waves I$HS 99
B sky waves T 99
C surface waves WHY 99
D space waves W 99
Correct Answer (D
. Choose the correct statement Jease GaR AP :
Q.No: 116 regarding satellite communications. %H‘q"i{f{ﬂﬁ$ﬂ:{ﬁ€ﬁ
If two earth stations do not face a e @
; 31 ¥IH UF JAH Yedse &
A Communicate via a dodble-satelite | S 61 €10, T 39 GewTee ¢ &
hop ared Y YUY AT 15T
Satellites are allocated so that it is dearge sTEfg TfF
B impossible for two earth stations not 3 @"\’F}ﬁ & mm - ‘eﬁa
to face the same satellite. e
c Collocated earth stations are used for |Wiedl SHARIE & U Bldidves 34
frequency diversity. WA HT IYANT fHar Sram §
A satellite earth station must have as QEFIB? 3 W & gy It Aa
D many receive chains as there are BT =1feT S & AR 39! Uftg
carriers transmitted to it. T g

Correct Answer

D




Q.No: 117 Criterion used for judging cd AHCIR B i & g SUYdd
appropriateness of tool software is Aucs g
A Functionality TraRfere!
B Scalability Whafaferdt
C Compatibility FHucfaferct
Security gt
Correct Answer (A
Q.No: 118 Linux is ﬁﬁ?ﬁr%
A Application software TGN H A AIHCaTR
B Word processor IS MR
C Database management system gleey Aeie e
D Operating software SHTRFET ioedar
Correct Answer (D
Which of.the following is n.ot an ¥ Y 91 ofaoTe s
Q.No: 119 2(tj)gli<;tpgrlented programming (OOPs) %(Gﬁ?’ﬁtﬁ) Yoo et
A Encapsulation Qﬂ%@gﬁm
B Polymorphism TreiaTthe
C Exception QH@T—‘ZFT
D Abstraction TIRCHRA
Correct Answer |C
Which feature of object oriented 3fgoide 3Nfdcs URRIHT(3N3Ndh) &1
Q.No: 120 programming (OOPs) described the | &9 I M HIs Rgwifaferdt &) ufuifa
reusability of code? HAT &
A Abstraction TR
B Encapsulation QHWW
C Polymorphism TreftaTfthe
D Inheritance BRG]
Correct Answer (D
Which feature of object oriented 3figolge fifvdes W(Bﬁm) hl

Q.No: 121 programming (OOPS) derives the DI T AW UH A O gus] A &l
class from another class? IECARGIR

A Inheritance BRG]
Data hiding TeT BIRfeT

C Encapsulation THHGARA




D

Polymorphism

Correct Answer

A

Which operator from the following 70 ¥ D I TR BT NAHIBH B
Q.No: 122 can be used to illustrate the feature |fa=5dr & gRHIRG B & fow I
of polymorphism? foar o gbdr &
A Overloading << MNIRANST <<
B Overloading && SMERATET &&
@ Overloading || SNERANET ||
D Overloading += SNERANET +=

Correct Answer

A

Q.No: 123 Which member of the superclass is UK DT D I I J9-FAT B
Y never accessible to the subclass? Ft off Suas TS @
A Public member st Jad
Protected member icacs e
C Private member UIgde 9
Both (Protected member) and | (SORRE Tl TSI Jo
D (Private member) <l ( )Gﬁ? ( )
Correct Answer |(C
A region of negative differential fafrepTT TIu SiaeF ¥ B dedw
Q.No: 124 resistance is observed in the current |3y opres & 30 fewiRmd YRR
voltage characteristics of a silicon PN T &5 ToR STl % oty
junction if
An intrinsic silicon region is inserted F FoT 9k ;
_ T Ao & 7 Efelis
A between the P-region and the N- v s
region ISINCAE R ERSISIRCIRI
B The P-region is heavily doped T AoF & a1 | 0t Id5F ofds &9 ¥
compared to the N-region 19 fpar Srar §
C The N-region is heavily doped ﬂﬁmﬁmﬁmﬂmmwﬁ
compared to the P-region ST foar Srar %
b Both the P-region and the N-region  |aHI Ot I 3R T SvH & 31fd% =4 9
are heavily doped SIY foar o §
Correct Answer (D
Q.No: 125 A zener diode is used as IR SIS BT IUTNT fHar St 8
A an amplifier Th TEHRR
B a multivibrator TH A aigsc
C a voltage regulator & dlees ?‘gaai
D a rectifier T YACIBIaR




Correct Answer

Q.No: 126 Photo diode is normally: I Biel SIS §:

A Forward biased BRIS TS

B Neither forward nor reverse biased |9 HRds dU%S 7 &l Rad TS

C Reverse biased IRCRACI L

D Emmitting light qfifd drge

Correct Answer |C
Which of the following statements Ahe (TH3Tguphsel) & feu g # 9
are INCORRECT for a MOSFET £ T HU T 2

P: As channel length reduces, OFF-
state current increases.

Ut S oFd oY HH gt 8, 3T Te P
e gl

Q.No: 127 Q:As channel length reduces, output ;Va%: aﬁé- ?I%IW‘@F?[%, d

resistance increases. 3 %l.
_ IR: I A T HH BN &, IS

R: As channel length reduces, e :
threshold voltage remains constant. ﬁé Hr E%E.I ' o .
S: As channel length reduces, ON | ST T HH el §, 3 Bie
current increases. §Gdl g

A Rand S 3R 3R TH

B QandR T 3R 3R

C Pand S b 3R T

D Pand Q f iR g

Correct Answer (B

Q.No: 128 In order to realize a current amplifier, |®HYc T@IHRR &I RIS H3- & g,

e the desired feedback topology will be | 3{d%a® Bigdd clUidol

A Series-series TiRS-Hifet

B Series-shunt GIeT-2ie

C Shunt-shunt Yic-RC

D Shunt-series Te-dive

Correct Answer (D
Which of the following oscillator can |FEH ¥ S I Giﬁaa PT IUANT fopan

Q.No: 129 be used, where high stability of STdT gobdT §, Sel Wied! o 3= Rilddd
frequency is required? Al GHEW% ?

A Crystal oscillator freed siifteR
Wien Bridge Oscillator oo T SiiRiceR

C Hartley Oscillator BIed 3MRyaer




D

Colpitts Oscillator

|aﬁaﬁsﬂaﬁw

Correct Answer

A

Q.No: 130 When amplifiers are cascaded? TRBRR B H HRGSS fHaT ST 872
A The gain of each amplifier is Wﬁ@ﬁm%ﬁ?ﬁq@ﬁﬂﬁﬁ%
increased
B A lower supply voltage is required ARl @ I MaTHdl §
C The overall gain is increased 99 19 ¥ 9fg gt B
D Each amplifier has to work less TP TRTBRR B HH HTH BT gidl §
Correct Answer |(C
Which type of special purpose diode fed oiR Tfideaes B qrem 9 frg
Q.No: 131 is formed by a metal and 29 3 3
semiconductor? # 31 ol 8
A Schottky QCeh!
B Varactor G
C Tunnel cAad
D Zener SR
Correct Answer (A
Which of the following statements is TEHURER SN :
Q.No: 132 false in respect of 8086/8088 %O%if/%?%gm I 22 & Wy H T
microprocessor? ’
A These processors have identical 9 TRRR & T Wil TR MThiedR
internal architecture g gl
B They differ only in external signals 3% TaeHd e i g €1
The 8086 has 16-bit external data : W
C bus and 8088 has an 8-bit external 2822 g é%@iﬂﬁ?ﬁﬁ @%aa:g@?r%l
data bus.
The 8086 has 8-bit external data bus : W‘Tﬁ
D and 8088 has an16-bit external data 8086 g 8 1%'1%?{ maa oY th?ﬁ %
bus. 8088 H 16 GRS [
Correct Answer |D
Q.No: 133 Th_e 8086/8088 is a bit 8086/8088
microprocessor foe
A 8 8
B 16 16
C 24 24
D 32 32
Correct Answer (B




Which of the following statements is

gluqu & ded # o9 91 HYF I8l §

correct in respect of DMA (Direct (STREE HURT TRN)?
Memory access)?
T) SITHY Y9R 3R S[eT TR $I Th
a) DMA is a process of communication | gfgyy % S fF Q?HE‘FT?I aﬁw I fafa
or data transfer controlled by an ARSI %I
external peripheral
o) ST heleR ST BT Held HRal §
b) DMA Controller takes control of the ‘. Tigen >
Q.No: 134 buses and transfers the data directly mg? i ok & e
between source and destination. =
c) DMA controller is a processor ;ﬁ) ng% %I l é Eaﬁz U R {§Gﬁ P
capable only of copying data at high 3= SICT I TP & QIRT T
speed from one location to another W B B T eH ?”
location.
1) SITAT Teb 3175/ 3 Teiteh § Wil
d) DMA is an I/O technique commonly | SHRId: 3= TIfd STCT B TWR B |
used for high-speed data transfer. SUANTd Bieht
A a, b and c only Fad T, 3R I
B a, cand d only Fad T, AR S
C a, b, candd T, &, I R
D a, b and d only ao_cﬁfll,ﬁff 3R &
Correct Answer (D
Which of the following are
considerations for microprocessor m A ISSIER] ¥ forw o oY
memory design? BT o1 T T 22
Q.No: 135 a) Memory size and memory map ) ﬁ'ﬁﬁﬂw ah? AR A
b) Future expandability ;?; 2
c) Memory access time
A a only Had U
B c only Fad I
C a and b only Fad T R &t
D a, bandc T, o 3R &t
Correct Answer (D
Q.No: 136 Which of the following statement is | HISHIUENR S TR & Iy & Ay
applicable for Microprocessor based | & ¥ $I9 § &Y AN &
applications
0) 1 W Aeiwias fowd o, U
a)In scanned multiplexed display, Tdsel g AT 33; S

each seven segment LED is turned on
and off sequentially. The cycle is
repeated fast enough that the display

HHATIR
%lﬂﬁ%aﬁeﬂawﬁrﬁmw%
arfes =xg w18 |




appears stable.

b) Interfacing a liquid crystal display,
LCD is used where low power
consumption is necessary.

¢) Interfacing a matrix keyboard with
20 keys, the key board has five rows
and four columns.

) forfebs fbeed fSoad & $exby & forg,
TIS! T IUANT a1 ST § Sigl BH
UiaR & @Ud P TS gl

) 20 P aTe RGRI AR FAS &
?ﬂ,ﬁ&‘l‘s‘ﬁﬁaﬁaﬁ?aﬁﬁwaﬁ
|

A a and b only WQ@T@[
B b and c only Fad o R
C a, bandc T, &t 3R

D a and c only WE@T@

Correct Answer

C

In a broadcast superheterodyne

Q.No: 137 receiver, the FSPHRE YAReISE_T RIR H,
A local oscillator operates below the Aipa 3fRycer RHd wied! ¥
signal frequency 3HTqRe HaT1 §
B Mixer input must be tuned to the R 39ge &1 ReHa Wi § dgaH
signal frequency ggdi %’
c local oscillator frequency is normally | eed 3iMRIceR Wi JHIT: 3MSUH
double the IF 1 g oIl §
RF amplifier normally works at 3RUB TRIBRR GG R Bierd!
D .
455kHz above the carrier frequency | 455 HUIuie TR BT Hdl &
Correct Answer (B
The local oscillator of a broadcast Siehre AR &1 AHd 3HRIde B
Q.No: 138 receiver is tuned to a frequency SIBIET Wil I D Wibd! IR A
higher than the incoming frequency a1 Sirar %
A to help the image frequency rejection |38 Wied Roa¥H § Ig™dl #34 & fag
B to permit easier tracking T i Y 3rafa & faw
C because otherwise an intermediate FifP TP JafARGd Th FeHifse
frequency could not be produced it UaT gl 1 off Tebal!
b to allow the adequate frequency fa fRafi foru vafw Wi Havs &1
coverage without switching 3gafd <A & fow

Correct Answer

D

In electromagnetic waves,

Q.No: 139 polarization 3@3@1@% Io8 H, TIeRIE I
A is caused by reflection Rpdee ¥ I gl §
B is due to the transverse nature of the I ¥ ‘;’Iﬁﬁ 5@% F BRI 2
waves
C results from the longitudinal nature of |dq & Wifilegfe-a UHfd &1 TR §




the waves

D ins']:(ljman;’/]s vertical in an isotropic mm g § AR e g %
Correct Answer (B
As electromagnetic waves travel in : sﬁﬁ% et ¥
Q.No: 140 free space, only one of the following g_?% 3 B:Aliblf Wéa l;h‘;xg;ﬁ 3 %’
can happen to them T®
A absorption QHGT@\"QH
B attenuation LE ORI
Cc refraction RSN
D reflection IRCZNENE
Correct Answer (B
When microwave signals follow the
o 9 A1ShIad RIHd gedt & HaeR & diaT
Q.No: 141 curvature of the earth, this is known :
o a8, A 39 Bl Sl 8
A the Faraday effect T BRIS 3hac
B ducting SfgeT
C tropospheric scatter AORRING Wrex
D ionospheric reflection IMHFRRING Rbearq
Correct Answer (B
Q.No: 142 The tunnel diode TId TS
A has a tiny hole through its center to | AT &I JH &1 & T s A o
facilitate tunneling T ©¢ gl §
B is a point-contact diode with a very % Uise Plcde SAS % et feadt
high reverse resistance AR 55 o §
c uses a high doping level to provide a |=RI SiaRH IUA FXM & oW I ST
narrow junction WWG‘E@HW%
works by quantum tunneling 3 ' NS . Wam GTI?IT&? G‘% 53
D exhibited by gallium arsenide only Ell
ST B
Correct Answer |(C
Q.No: 143 Waveguides are used mainly for T3hidd REMa & fam JBd: JJES &I
R microwave signals because IuanT foean ST § i
they depend on straight line a@wmwﬁl&%\?ﬁ%
A propagation which applies to %%1' TEHEE W %
microwave only arg
B Losses would be too heavy at lower |didR Wighdl TR AP 81 Bl &

frequencies




there are no generators powerful 37T TR HH S ) ORd B

C enough to excite them at lower o qg‘ TGDT% 37]%112
frequencies. HTARGP qlavpd

D They would be too bulky at lower I8 AR WS W i v &

frequencies.

Correct Answer

D

Q.No: 144 A duplexer is used WWW@W%
to couple two different antennas to a ETAL L AT

A transmitter without mutual ngﬁgmam 3!
interference = ;
to allow the one antenna to be used AT @) RAW a1 e

B for reception or transmission without Qﬁi” % gT&{ﬁ'qﬁ[ a:”% ferg
mutual interference Jdq
to prevent interference between two T § Sexop¥ Y AT

Cc antennas when they are connected to o %ﬂ?@ﬁﬁé g ! vl
a receiver R :

D to increase the speed of the pulses in Teg TSR F Ueq # T $) gl B Rw

pulsed radar

Correct Answer

For handling high powers, the best

1% U o BTSfiT 3 forg, wlrem

Q:.No: 145 transmission medium is SIOfieE A1y §

A stripline SIS

B microstrip Iﬂ's;ﬁ'@'q

C rectangular wave guide W%Tﬂﬂg

D coaxial line aﬁqﬁaur—r NIESE

Correct Answer |C

Q.No: 146 An ungrounded antenna near the U3 & THIT AISfeS T
ground

A acts as a single antenna of twice the ST S & TH CHI & 9 T SR
height HAT &

B is unlikely to need an earth mat T ST BT JHTIRISHal Aal gt

C acts as an antenna array WHTWR P =0 & B Har g

D must be horizontally polarized gItSlicd ¥4 H UiaRTsss g

Correct Answer |C

QNo: 147 | o ant antennas? | i o Y G e &7

A The rhombic antenna e T




B The folded dipole Bies SRUd

C The end-fire array TS-BRR W

D The broadside array Feass W

Correct Answer A

Q.No: 148 which of the following antenna is g & ¥ SH W1 T IR TeRES
circularly polarized? %?

A Yagi-Uda grfi-S& el

B small circular loop Wﬂéﬁﬂ@

C parabolic reflector e Noaer

D helical RINEZ]

Correct Answer (D

Q.No: 149 A helical antenna is used for satellite RENIEH b o Rferra G IUAhT gran
tracking because of its g Hife

A Circular polarization THeR TR

B Maneuverability AgRfaferct

C Broad bandwidth e dsfagy

D Good front-to-back ratio 3T The ¢ o XN

Correct Answer A

Q.No: 150 The pitch of the sound is related to |13 s &I U Jafid @

A Amplitude SIS

B Intensity EE RG]

C Frequency PR

D Loudness ISR

Correct Answer |C




BSNL LICE JTO

PROVISIONAL ANSWER KEY

Section - I (General English & General Studies)

Q.No: 1

"Read the following passage and answer the questions that follow.

1. What makes a place sacred? A place where meditation is practised over
many years automatically acquires certain powers. The place gets charged
with the energy and vibrations from peaceful thoughts. Depending on the
intensity of meditators, the sanctity and power of a particular place can
thus remain charged, exuding powerful vibrations, for thousands of years.
The Parshvanath Hills is one such place. Twenty-two of the 24 Jain
Tirthankaras attained nirvana on this hill, and these enlightened persons
were separated by thousands of years.

2. When a Tirthankara leaves his body, the equivalent of an atomic
explosion takes place. The energy that united body and soul is released.
This power is dispersed on the hill. The whole atmosphere and
surroundings get surcharged. What the Parshvanath Hills are to the Jains,
the Ganga is to the Hindus.

3. Lord Krishna said, "Among the armed, I am like Ram; I am like a
crocodile among fish and the Ganga among rivers. Dear Arjuna, I am the
beginning, the end and even the middle of existence”. The symbolism of
the Ganga is worth understanding. Take away the Ganga from India and
all the literature of India will become incomplete. Take away the Ganga
and the names of many sages will perish; the spirit of pilgrimage will be
lost. The Ganga has become the symbol of our collective spirit.

4 What is so special about the Ganga? There are rivers that are much
longer, wider, larger, than the Ganga on this planet - the Brahmaputra,
the Amazon, the Nile and the Hwang Ho... There is something unique
about the Ganga that is not found in any of these great rivers: despite all
the pollutants being pumped into the Ganga, it has somehow managed to
maintain its relative purity. Chemically, it contains extraordinary
properties —— its water does not putrefy or deteriorate even if kept bottled
for long, unlike the water from other rivers. It is interesting to know that
the water of the Ganga has properties different from those of other rivers
but which seem to undergo a mystical change once they flow into the
Ganga’s waters. This is a mystery that even science has not been able to
understand, as yet."

The place which acquires strong powers is

Where music is played

Where meditation is practised

Where there are idols and statues

O 0O m|>r

None of the above

Correct Answer




Q.No: 2

"Read the following passage and answer the questions that follow.

1. What makes a place sacred? A place where meditation is practised over
many years automatically acquires certain powers. The place gets charged
with the energy and vibrations from peaceful thoughts. Depending on the
intensity of meditators, the sanctity and power of a particular place can
thus remain charged, exuding powerful vibrations, for thousands of years.
The Parshvanath Hills is one such place. Twenty-two of the 24 Jain
Tirthankaras attained nirvana on this hill, and these enlightened persons
were separated by thousands of years.

2. When a Tirthankara leaves his body, the equivalent of an atomic
explosion takes place. The energy that united body and soul is released.
This power is dispersed on the hill. The whole atmosphere and
surroundings get surcharged. What the Parshvanath Hills are to the Jains,
the Ganga is to the Hindus.

3. Lord Krishna said, "Among the armed, I am like Ram; I am like a
crocodile among fish and the Ganga among rivers. Dear Arjuna, I am the
beginning, the end and even the middle of existence”. The symbolism of
the Ganga is worth understanding. Take away the Ganga from India and
all the literature of India will become incomplete. Take away the Ganga
and the names of many sages will perish; the spirit of pilgrimage will be
lost. The Ganga has become the symbol of our collective spirit.

4 What is so special about the Ganga? There are rivers that are much
longer, wider, larger, than the Ganga on this planet — the Brahmaputra,
the Amazon, the Nile and the Hwang Ho... There is something unique
about the Ganga that is not found in any of these great rivers: despite all
the pollutants being pumped into the Ganga, it has somehow managed to
maintain its relative purity. Chemically, it contains extraordinary
properties —— its water does not putrefy or deteriorate even if kept bottled
for long, unlike the water from other rivers. It is interesting to know that
the water of the Ganga has properties different from those of other rivers
but which seem to undergo a mystical change once they flow into the
Ganga’s waters. This is a mystery that even science has not been able to
understand, as yet."

The Ganga symbolises

purity

Faith

collective spirit

OO m| >

All of the above

Correct Answer

D

Q.No: 3

"Read the following passage and answer the questions that follow.

1. What makes a place sacred? A place where meditation is practised over
many years automatically acquires certain powers. The place gets charged
with the energy and vibrations from peaceful thoughts. Depending on the
intensity of meditators, the sanctity and power of a particular place can
thus remain charged, exuding powerful vibrations, for thousands of years.
The Parshvanath Hills is one such place. Twenty-two of the 24 Jain
Tirthankaras attained nirvana on this hill, and these enlightened persons
were separated by thousands of years.




2. When a Tirthankara leaves his body, the equivalent of an atomic
explosion takes place. The energy that united body and soul is released.
This power is dispersed on the hill. The whole atmosphere and
surroundings get surcharged. What the Parshvanath Hills are to the Jains,
the Ganga is to the Hindus.

3. Lord Krishna said, "Among the armed, I am like Ram; I am like a
crocodile among fish and the Ganga among rivers. Dear Arjuna, I am the
beginning, the end and even the middle of existence”. The symbolism of
the Ganga is worth understanding. Take away the Ganga from India and
all the literature of India will become incomplete. Take away the Ganga
and the names of many sages will perish; the spirit of pilgrimage will be
lost. The Ganga has become the symbol of our collective spirit.

4 What is so special about the Ganga? There are rivers that are much
longer, wider, larger, than the Ganga on this planet - the Brahmaputra,
the Amazon, the Nile and the Hwang Ho... There is something unique
about the Ganga that is not found in any of these great rivers: despite all
the pollutants being pumped into the Ganga, it has somehow managed to
maintain its relative purity. Chemically, it contains extraordinary
properties —— its water does not putrefy or deteriorate even if kept bottled
for long, unlike the water from other rivers. It is interesting to know that
the water of the Ganga has properties different from those of other rivers
but which seem to undergo a mystical change once they flow into the
Ganga’s waters. This is a mystery that even science has not been able to
understand, as yet."

Find the word in the passage which is used for "to make worse".

A Different

B deteriorate
Cc bottled

D mystical
Correct Answer (B

Q.No: 4

"Read the following passage and answer the questions that follow.

1. What makes a place sacred? A place where meditation is practised over
many years automatically acquires certain powers. The place gets charged
with the energy and vibrations from peaceful thoughts. Depending on the
intensity of meditators, the sanctity and power of a particular place can
thus remain charged, exuding powerful vibrations, for thousands of years.
The Parshvanath Hills is one such place. Twenty-two of the 24 Jain
Tirthankaras attained nirvana on this hill, and these enlightened persons
were separated by thousands of years.

2. When a Tirthankara leaves his body, the equivalent of an atomic
explosion takes place. The energy that united body and soul is released.
This power is dispersed on the hill. The whole atmosphere and
surroundings get surcharged. What the Parshvanath Hills are to the Jains,
the Ganga is to the Hindus.

3. Lord Krishna said, "Among the armed, I am like Ram; I am like a
crocodile among fish and the Ganga among rivers. Dear Arjuna, I am the
beginning, the end and even the middle of existence”. The symbolism of
the Ganga is worth understanding. Take away the Ganga from India and
all the literature of India will become incomplete. Take away the Ganga
and the names of many sages will perish; the spirit of pilgrimage will be
lost. The Ganga has become the symbol of our collective spirit.




4 What is so special about the Ganga? There are rivers that are much
longer, wider, larger, than the Ganga on this planet — the Brahmaputra,
the Amazon, the Nile and the Hwang Ho... There is something unique
about the Ganga that is not found in any of these great rivers: despite all
the pollutants being pumped into the Ganga, it has somehow managed to
maintain its relative purity. Chemically, it contains extraordinary
properties —— its water does not putrefy or deteriorate even if kept bottled
for long, unlike the water from other rivers. It is interesting to know that
the water of the Ganga has properties different from those of other rivers
but which seem to undergo a mystical change once they flow into the
Ganga’s waters. This is a mystery that even science has not been able to
understand, as yet."

Who does Lord Krishna compare himself to among deities?

A Krishna
B Ram

C Arjun

D

None of the above

Correct Answer

Q.No: 5

"Read the following passage and answer the questions that follow.

1. What makes a place sacred? A place where meditation is practised over
many years automatically acquires certain powers. The place gets charged
with the energy and vibrations from peaceful thoughts. Depending on the
intensity of meditators, the sanctity and power of a particular place can
thus remain charged, exuding powerful vibrations, for thousands of years.
The Parshvanath Hills is one such place. Twenty-two of the 24 Jain
Tirthankaras attained nirvana on this hill, and these enlightened persons
were separated by thousands of years.

2. When a Tirthankara leaves his body, the equivalent of an atomic
explosion takes place. The energy that united body and soul is released.
This power is dispersed on the hill. The whole atmosphere and
surroundings get surcharged. What the Parshvanath Hills are to the Jains,
the Ganga is to the Hindus.

3. Lord Krishna said, "Among the armed, I am like Ram; I am like a
crocodile among fish and the Ganga among rivers. Dear Arjuna, I am the
beginning, the end and even the middle of existence”. The symbolism of
the Ganga is worth understanding. Take away the Ganga from India and
all the literature of India will become incomplete. Take away the Ganga
and the names of many sages will perish; the spirit of pilgrimage will be
lost. The Ganga has become the symbol of our collective spirit.

4 What is so special about the Ganga? There are rivers that are much
longer, wider, larger, than the Ganga on this planet - the Brahmaputra,
the Amazon, the Nile and the Hwang Ho... There is something unique
about the Ganga that is not found in any of these great rivers: despite all
the pollutants being pumped into the Ganga, it has somehow managed to
maintain its relative purity. Chemically, it contains extraordinary
properties —— its water does not putrefy or deteriorate even if kept bottled
for long, unlike the water from other rivers. It is interesting to know that
the water of the Ganga has properties different from those of other rivers
but which seem to undergo a mystical change once they flow into the
Ganga’s waters. This is a mystery that even science has not been able to
understand, as yet."




The literature of India is incomplete without the mention of which river?

A Hwang Ho

B Nile

C Brahmaputra
D Ganga
Correct Answer (D

Q.No: 6 The jumped through the round hoop.
A Wrestler

B Gymnast

C Cyclist

D Boxer
Correct Answer |B

Q.No: 7 She bought a pair of new sports shoes the Bata Shoe Company.
A At

B From

Cc In

D For

Correct Answer |B

Q.No: 8 This novel is interesting.

A Very

B Many

Cc Much

D Some

Correct Answer A

Q.No: 9 Is______ method the only solution to the problem?
A These

B Those

C This

D The

Correct Answer |C

Q.No: 10 Twice the amount means the price.




A Triple

B Double

Cc Four times

D Same

Correct Answer |B

Q.No: 11 Itis white elephant.

A An

B A

C Any

D The

Correct Answer |B

Q.No: 12 It was a shock to him.
A Quite

B Some

Cc An

D More

Correct Answer A

Q.No: 13 They visited Taj Mahal.
A A

B An

C The

D None of the above

Correct Answer |C

Q.No: 14 Dilip is honest person.
A A

B One

Cc The

D An

Correct Answer (D

Q.No: 15 She has not solved sums.
A Any
B Many




C One

D All

Correct Answer |B

Q.No: 16 He finally reading all of those documents last night.
A Had finished

B Finished

C Is finishing

D Am finishing

Correct Answer (B

Q.No: 17 They all together in college.
A Is studying

B Are studied

C Studied

D Studys

Correct Answer |C

Q.No: 18 The new work schedule ______ released yesterday.
A Is

B Was

C Will be

D should be

Correct Answer |B

Q.No: 19 We should never board a vehicle.
A Stationary

B Sedentary

C Moving

D Standing

Correct Answer |C

Q.No: 20 Acquiring means
A To lend

B To obtain

C To enquire

D To acquit




| Correct Answer |B

Q.No: 21 ____ candidate do you think we should hire for the Job ?
A Whom

B Who

C Which

D When

Correct Answer |C

Q.No: 22 Pick the suitable word for a specialist in heart diseases:
A Pathologist

B Cardiologist

C Paediatrician

D Dentist

Correct Answer |B

Q.No: 23 Pick the synonym for a catastrophe:
A Disaster

B Death

C Trophy

D Catalyst

Correct Answer A

Q.No: 24 Pick the antonym for haphazard:
A Disorganised

B Systematic

Cc confused

D Random

Correct Answer (B

Q.No: 25 Both Radha and Ria

A Are participating today.
B Is not participating.

C Will participating.

D Participated tomorrow.

Correct Answer A




Q.No: 26 Which Acid is present in Tomato? THER H B I1 3 grar %?

A Citric Acid Ryl thrs

B Oxalic Acid 3o TR

C Lactic Acid dfdes s

D HCL TafiTe

Correct Answer B

Q.No: 27 In which pH range does our body grara’ur § Sfifdd Y64 & fof 39N IRR
work to survive in the atmosphere? frg ditg W R B B %?

A 5.5 to 8.5 5.59 8.5

B 7.0t0 7.8 7.097.8

C 2.3t07.0 2.397.0

D 7.5 to 12.5 7.5¥12.5

Correct Answer B

Q.No: 28 What is the ch_emical formula of POP ﬁéﬁﬁ(w 3% %rh;r) Eal q?‘l'{?ﬂ Gl
(Plaster of Paris)? g2

A CaS04.2H20 CaS04.2H20

B CaS04.3H20 CasS04.3H20

C CasS04.1/2H20 CaS04.1/2H20

D CaC03.1/2H2 CaC03.1/2H2

Correct Answer

C

Rihaan can use any source of energy
for cooking, but he wants to avoid

: S|
O Wiich of these sources shouid ne use | 4 U511 9 ) 46 7 e
for cooking?
A coal DI
B electricity faggd
C petroleum Oeiferm
D wood GCEl
Correct Answer |B
No: 30 Whhich olz_thesc? proceshses exlplains =70 9§ o9 O ufdan RSddd gfe wie
Q.No: 'chlsn\év?or ing of a geothermal power P SHTRITOTER B gRUIRT HRdT 22
A use of potential energy to produce Idlcd & forg U rRad Fﬁﬁﬁ JUTRT




electricity

B use of t_hermal energy to produce Jare ¥ fw ofe Q:lx_rffm STANT
electricity

C use of I_<|net|c energy to produce Jare ¥ fu sEAke Q:W:'ﬁﬁ ST
electricity

D use of t_|daI energy to produce W*WWWWW
electricity

Correct Answer (B

. . 9 & ¥ o9 ¥ 9gg Pt @y wnph &t
. Which group of waste materials can M P  rifepd 13
Q.No: 31 be classified as non-biodegradable? - LALE! ot
Tl 82

A plant waste, used tea bags qiyT 3rafy, IuanT fHu U & 5

B polyethene bags, plastic toys qiferf 9w, wifes & f{dH

C used tea bags, paper straw IUAT faru T & ov, O @ T

D old clothes, broken footwear RME $HUS,gC §U I

Correct Answer

Hhrougn 2 certain angle, the refiected | S X 31 Fel R or o g
Q.No: 32 9 gie, ST ©, wfafafad o g die adt ?
ray turns through twice as much as IR W BT PR Bl &
the angle and the size of the image:
A is doubled U
B is halved STt
Cc becomes infinite Sfifira | o 8
D remains same A Yedl %
Correct Answer (D
The present president of India, Smt. R WW sfrafy 2o
Q.No: 33 Draupadi Murmu, was earlier the g QTEI ol W,?ﬁ Y
Governor of
A Odissa Igr=m
B Jharkhand EIRCES
C West Bengal BIEEEUIG
D Tripura EIN
Correct Answer (B

. Which among the following is the Y TR 3en 5
Q.No: 34 origin of Damodar river ? GEER T T WW%
A Greater Himalaya e feHTem
B Kumaon Himalaya W feaTer™a




C

Sahyadri hills

SRRIFR IR

D

Chota nagpur

BleT AR

Correct Answer

D

Which of the following Mountain

0 ¥ B 91 udd R_f YRd, 3T 3R

BN dinching and Myanmar? | R B SR T €2
A Nathu La iy dr

B Jelep La Sy o

C Bomdi La CIESIS]

D Diphu Pass 4% U

Correct Answer (D

Which of the following hill stations is

T8 ¥ 5y UgTEt ®d &Y "qAgST Bt

Q.No: 36 referred to as "Queen of Satpura"? I BT ST 872

A Amarkantak 3RbHch

B Pachmarhi e

C Yusmarg qamf

D Palampur UTeTHYR

Correct Answer B

Q.No: 37 Which of the following river is 30 § B I e YR qewd § gitferd
integrated into the Thar desert? Bt 82

A Mahi gt

B Luni [5Gl

C Tapi ardt

D Narmada qrar

Correct Answer B

Q.No: 38 Shaheed.Dweep was formally known Y@E@ﬁ“ﬁﬂﬁﬁﬁ?ﬁﬁﬁ?ﬂﬂmﬁ
as by which of the following name? ST SITdT YT1?

A Ross island RES| 311'&%@’

B Neill island ESEEIERS]

C Outram island e IS

D Havelock island 2adl® MRS

Correct Answer




Q.No: 39 Which of the following waterways TR P I TTHN HRT BT i I
separates India from Sri Lanka? faurforg ®war g2

A 80 Channel 80 o a

B 100 Channel 100 I=d

C Palk Strait Ui ¥

D Duncan Passage S T

Correct Answer

C

"Vayam Rakshamah" or "We Protect"
is the theme of which armed force of

"SI I&H:" YT "8H &1 B & 390 I

Q-No: 40 Indin? B A YR I 1 67 R 2
A Indian Coast Guard YR dc &

B Indo-Tibetan Border Police g8l- fagdd IeR

C Assam Sentinels 39 I

D Border Security Force T JRam

Correct Answer

A

Which Union Ministry launched the

D I ST HAGT 7 "gIDdl WL

Q.No: 41 'Swachhata Start-Up Challenge'? T P URY farar g2

A Ministry of Housing & Urban Affairs | 39T Td gt AT HATGY

B Ministry of Rural Development grior faer Hare™

C Ministry of Agriculture PN HATC

D Ministry of Home Affairs e HATTY

Correct Answer A

. Pandit Birju Maharaj, whq passe(_j RIS R, et BTa & & Few

Q.No: 42 alwh?cyh r((je;ﬁzél?y, was associated with el %ﬁ% I 3 TG A2

A Kathak DD

B Bharatanatyam HIATAH

C Kuchipudi PiIgs!

D Mohini Aattam gt ergd

Correct Answer (A
A candidate attempted _12 questions & IR 3 T § 12 Uy g fhu
and secur_ed full n:alfks in all of them. GﬁTB:Iﬁ@ 3 U fpul afe I gt

Qoi43 | Ifhegptane 60% in e testand il gon, i e o oA v %
what is the number of questions in %$§[gﬁiqﬁ P a’ aft e H w1

the test?




A 36 36

B 30 30

C 25 25

D 20 20

Correct Answer (D
A cuboid has six s?des_ of different v aw‘fqg A 3T T T ) BE TaE
colours. The red side is opposite to Eﬂ'cﬂ%‘l WWWW%W%I

black. The blue side is adjacent to

Q.No: 44 white. The brown side is adjacent to m ik * m{uEﬁE' %?%q ﬁ%%{@, E:ﬁ%[E &
blue. The red side is face down. 3 E E. % HENIN e ¥ Eﬂgﬂ
Which one of the following would be ! S NEE @ e
the opposite to brown? G

A red NI

B black BTl

C white g

D blue et

Correct Answer |(C
A man fills a basket with eggs in such
a way that the number of eggs added % AT Tt § S =7 aRE ST &
on each successive day is the same & g o7 1@ TTU Sie) @l T St B

Q.No: 45 as the number already present in the R ofe] & Wel % weR e 21 59
basket. This way the basket gets Y T 24 R B @ R ST 2]
completely filled in 24 days. After mﬁﬁ fet 5 i
how many days the basket was 1 / ste 1/4
4th full?

A 6 6

B 12 12

C 17 17

D 22 22

Correct Answer (D

A person has 4 coins each of different
denomination. What is the number of

U Afad & UIT 3T 3T A & 4
fyas &1 379 afad i UeR @t pa

e e e e ST €7 o 2 7 w
a time)? WWWWW@)

A 16 16

B 15 15

Cc 12 12

D 11 11

Correct Answer |B




Running at a speed of 60 km per 60 fo. 4. Tfa HeT Bt THAR T ared §T

Q.No: 47 hour, a train passed through a 1.5 T I@me! 1.5 . 1. Wﬁ?ﬂ&ﬁ?ﬁ

B km long tunnel in two minutes. What |fFe & UR $3dt 21 Yerme! 5t Bt deTs T

is the length of the train? grft?

A 250m 2504

B 500m 5004

C 750m 7504

D 1000m 10004

Correct Answer (B

A person travels 12 km due North,
then 15 km due East, after that 15

T afad 12 fb. . SR o & =aan g,
3I9% gyTq 15 .. gd fe=m o aear

Q.No: 48 km due West and then 15 km due 3I9¥ Uy 15 .1, ufdem fwn & T
South. How far is he from the 2 3R IUF usETq 15 fp. Y. afdror f=m &
starting points? T &, A URY ¥ R ¥ e R 27

A 3 3

B 6 6

C 12 12

D 15 15

Correct Answer (A

There are seven persons up on a
ladder, A, B, C, D, E, Fand G (not in
that order). A is further up than E
but is lower than C. B is in the

. Y

Q.No: 49 middle. G is between A and B. E is 2 N oR TG U A R AR T, §
between B and F. If F is between E | 3R St & 77 & g dl oY HI9al UM WR
and D, the person on the bottom Hfad gRm
step of the ladder will be

A B at

B F %

C D Sl

D E 3

Correct Answer |(C
As per agreement with a bank, a
businessman had to refund a loan in %$W”§Q?Tq@%$ 3R, U
some equal installments without Wﬁﬁm%wﬁ;&?ﬁﬁﬂ

QMo 50 et 60 percent of his loan |1 T A | 18 e & He I
was refunded. How many wﬁﬁ; goﬁ% Wﬂﬁaﬂa o Epfﬂﬁ !
installments were there in the
agreement?




A 22 22
B 24 24
Cc 30 30
D 33 33
Correct Answer |C

Section - II (Technical Paper)

A stack organised computer is

Q.No: 51 WP IS HIYLR T ol § e
R characterised by instructions with gRIT
A Zero addressing SRy TsRi
B Indirect addressing ST TR
C Direct addressing STRTE TSR
D Index addressing ORI TSR
Correct Answer (A
Which of the following affects the <7 @ B 91 HRRAT UfaR W gHE
processing power assuming they do =TT T
Q.No: 52 not influence each other. 1. Data bus Erﬂ-rrﬁﬁ%:l}'?ﬂﬁl ?;ﬁgﬁwééﬁz
capability. 2. Addressing scheme 3. . 5 L 5 )
Clock speed. 13“ 3. ®dld
A 3 only $ad 3
B 2 and 3 only Fad 2 3R 3
C 1 and 3 only Fad 1 3R 3
D 1,2and 3 1,2 3R 3
Correct Answer (D
Statements associated with registers m Forex T wafE :
Q.No: 53 of a CPU are given. Identify the false o $$2F[ 1 qﬁjﬁl F ey T B
statement.
An instruction in the instruction WWﬁwﬁ SfgEE ok
A register consists of the opcode and u“;‘. : [ﬁ% :
the operand FEoH '@ﬁ%’l
The program counter holds the WW$WQ@ﬁW
B memory address of the instruction in qo|:%c< e BT %I
execution. e
c Only opcode is transferred to the Held g Bl Had SHUdble TRHR gidl
control unit. %I
The value of the program counter is 9T FTEER & aa 19 9 o & o
incremented by 1 once its value has =g WQ@HW
D been read to the memory address %I a?g qqqgﬁ el

register.




| Correct Answer A

Q.No: 54 Both EPROM and EEPROM are EPROM 3fR EEPROM &
A Sequential access memory R TRy AaR!

B Random access memory IsH QER?F E=pIRy |

C Volatile memory CINEENREEIR]]

D Destructive memory fSxcfaca Okt

Correct Answer

In high level programming language

I TR TR HIST URebd |, END

Q.No: 55 Pascal, END statement lasts with WW%W&W@%

A Colon GG

B Full stop %d ¥

C Semicolon R EICANG]

D Double quotation marks TSI B A

Correct Answer B

Q.No: 56 Which program is used by web REEREREREIRCE I R R
clients to view the web pages? F fow H1 TN forar S g1

A Web browser 99 §I3oR

B Protocol PIEEI]

Cc Web server 99 gaR

D Search Engine BEREER]

Correct Answer (A

Q.No: 57 __ isused to find and fix bugs in wmﬁwaﬁgﬁ 3R fhey A
the Java programs. & forg H1 IUTNT foHar ST g

A VM STy

B JRE EEILE]

Cc JDK Selh

D JDB SStet

Correct Answer (D

Q.No: 58 Which of the following statements is | -icd® 89 & forg g & @ &H 91 By
true for network hub? Id 2

A A !'\ub connects different stations in a q@z@mﬁwﬁfw@mﬁﬁeﬁw
private network. %I

B It sends data packets to the intended




recipient.

TS Wiftde &I I8 STeT Ipe VefdT 3|

It contains two ports: one for input

39 31 U1 BId §: U $7YC o g 3R

¢ and other for output. QIR 3M3cyc & |
D It works at the network layer Tg cadh AR R B BT 8
Correct Answer (A
Q.No: 59 The data-link layer is responsible for |greT foi @R IR @
A Incoming bit stream and simply ERCAGURCH Rﬁ'ﬁ[ 3R WYRU: 3T \_{lﬁ
repeats to other devices connected Y JUHN & o SIeTd B
An error free communication across Acad ¥ MR 1R g 9 q@ TS
B the physical link connecting primary 3R TFeH R B Tw AV IAed FER
and secondary SR
stations within a network
An end-to-end integrity of data ' - '
C message propagated through the 3 U & g e o U8 ¢ Ug il
network between two Y BT IR
devices
D Logical connection at application layer | TfIBEM AWR W AloBd BRI

Correct Answer

. Which of the following is an : me -
Q.No: 60 important characteristic of LAN? T P LAN > &
A application independent interfaces TEHIH SaUSc Sch I
B unlimited expansion 3Ffafes vaguyH
C low cost access for low bandwidth A Yefiey A6l F R o ohe ey

channels 2
D parallel transmission W@'ﬂﬁlﬂ?
Correct Answer (A
Q.No: 61 IPv6 addresses have a size of: 3TsUtdle TSUY &1 THR BT 6
A 64 bits 64 fac
B 128 bits 128 fac
C 256 bits 256 foc
D 512 bits 512 foe
Correct Answer (B
Which of the following TCP/IP mﬁ@ﬁqmm/mmw
protocol allows an application W%Wﬁmﬁgﬂﬁﬂﬁﬂqﬁ
Q.No: 62 program on one machine to send a TP T R ST UG S
datagram to an application program . %
on another machine? UG ST &
A uDP ggidt




B VMTP digAdidt

C X.25 TRT.25

D SMTP THUHSTT

Correct Answer (A

Q.No: 63 How can we describe an array in the w@ﬁﬁnwﬁmwﬁ
best possible way? Ry fHar S bdr 872

A The Array shows a hierarchical @ STRRIPHd TWHRR @) agfar %I
structure

B Arrays are immutable. W LA g ¢

c Container that stores the elements of | §H YR & ddl Bl TR A ardl
similar types HeR|

D The Array is not a data structure QB\T STl IChTR :@%I

Correct Answer |C

Q.No: 64 \é\{'glcc:ss?r:)ef: i%fsgr;ﬁr:g“:r\:vg;gn;se:m:ein the ?}2{? qeflfe STe #1 ol S 3 a1
stack?

A Insert éﬂ?f

B Add us

Cc Push =

D Pull qd

Correct Answer |C

In the linked list implementation of

F P i fore Swefidce™ o, a1 weitde

Q.No: 65 queue, where will the new element be S sl )
inserted? o e rqr?
A ﬁgtthe middle position of the linked foigp foree % e
B At the head position of the linked list |fad fore & fif )
C At the tail position of the linked list  |fdi® fore & fUwd Wit &
D Any where in the Queue gl it
Correct Answer |C
Q.No: 66 Which data structure is the best for | T AN & H B T STeT LR
B implementing a priority queue? Bﬂﬂ%?
A Stack D
B Linked list feiare fore
C Array W
D Heap




S

Correct Answer

Q.No: 67 Which one qf the fo_IIowing techniques | TSI 'gpf ff g 8 o9 @ aeie &1
is not used in the Binary tree? I H@T Eﬁ?ﬂ %?

A Randomized traversal RERIErS Q'W

B Preorder traversal WeiiSR gravia

C Postorder traversal URe3aR eradd

D Inorder traversal 3?31% ‘gaﬁa

Correct Answer (A
Whigh of the following is used in the <TeTeg Tei Rier A 7T &1 3@”

Qo6 s ™ | 71 7 3 o et o o
system? '

A Data Manipulation language SIcl ﬁﬁgﬁm SICE|

B Data Definition Language gTeT St dae

C Data Control Language STeT FHeld aiasl

D All of the above Sudad Tt

Correct Answer

A

Which of the following commands is | fat t TRaRM & ey § WE ¥4 3§
Q.No: 69 used to save any transaction U9 HA 8g S8 W D W FHE H
permanently into the database? IUANT fam Sar 22
A Commit Fife
B Rollback RGCLT
C Savepoint Jquise
D None of the above SWH § J DTS ol

Correct Answer

A

In the relation model, the relation are

Q.No: 70 generally termed as Ry far S 81
A Tuples [OCINS)

B Attributes ey

C Rows RCS|

D Tables O[]

Correct Answer (D




Q.No: 71 The architecture of a database can be | SeT 99 & 3MBICRR Bl 5 YHR I &I
viewed as the 1 9bhdl g

A One level g dad

B Two-level < dad

C Three-level oft dad
Four level BR ddd

Correct Answer |C
Which of the following keys is 9d & Ay Ra/RawAfRm g & fog

Q.No: 72 generally used to represents the YROr: g & ¥ S I B BT ITn
relationships between the tables? g1 82

A Primary key U B

B Foreign key TR Bt

C Secondary key JH S B

D None of the above IWad § ¥ DI T8l

Correct Answer B
The minimum number of wattmeter B-ﬁv_vr, 3-aRR IS TT 3FAIS UlaR Dl

Q.No: 73 (s) required to measure 3-phase, 3- |HUA & o AdY fdha argdiex(RN) &t
wire balanced or unbalanced power is &nawa?ﬁ %?

A 1 1

B 2 2

C 3 3

D 4 4

Correct Answer B

If an induction type energy meter

g SSaRM TI8Y Hiex aol HEdT 8, O 39

Q.No: 74 runs fast, it can be slowed down by g & grr WWWW%
A Lag adjustment T TSoRede
B Light load adjustment dTsc AIS USoIeHe
By adjusting the position of braking ST B B R B USSR B 3R
C magnet and making it come closer to o ¥ T B B
the centre of the disc
By adjusting the position of braking S CAl R B TesE B
D magnet and making it move away = %?%ﬁm@ ﬁm 3R
from the centre of the disc XK
Correct Answer (D
Low resistance are provided with four | IR efHTcd & Ty o LY UM faar

Q.No: 75

terminals

ST &




A to facilitates the connection of the I IR UICRET Afhey & HaRME B
current and potential circuits IdHG 4T
in order that the resistance value ) )

B become definite irrespective of the | @Xc cHAd $I TPl T UJH = d T
nature of contacts at the current IR Ieg BT VI I 8¢
terminals

c to eliminate the effect of thermo- yrf Ioifacd STATE & UG HI T
electric emfs & 8

D to eliminate the effect of leads e & UHId I JHIE HRA 8

Correct Answer

Maxwell's inductance-capacitance

S VeV S ——

Q.No: 76 bridge is used for measurement of g o 9 fHasd gsovE &1 4 & o
inductance of forar orar §

A low Q coils [l &'C‘LW

B medium Q coils Hifean & Hiae

C high Q coils BT g S

D low and medium Q coils o iR Hifgaw ?:le

Correct Answer B

Q.No: 77 ﬁa\;c:)ltmeter with a broad bandwidth steye fagy AT dieesier F U e 2

A low noise level and high sensitivity | @ A799 idd 3R 818 ARICHAc

B high noise level and high sensitivity |gTs 7199 ddd 3R 8T8 ARICIfact

C high noise level and low sensitivity | gT$ 7199 ddd 3R o ARy

D low noise level and low sensitivity o F1aY Jdad 3R o AR

Correct Answer |C
Frequency counter can be used to )
ot B ez ) A1 ¥ Ry SwET R
1. Fundamental frequency of input STl &

signal
2. Fundamental and harmonic

1. Y Rud &1 heded Widh!
2. g1qc Rywre 1 ewed R gRAMNSD

Q.No: 78 frequencies of input signal HiedT
3. Time interval between two pulses |3, 3l Ul & oI CI5H Scdd
4. Pulse width 4, g fagy
Which of the above statement are Iudad B AT Y T8l 82
correct?

A 1,2,3and 4 1,2,3 30 4

B 1,2 and 3 only Fad 1,2 3R 3

C 2,3 and 4 only Fad 2,3 3R 4

D 1,3 and 4 only Fad 1,3 3R 4

Correct Answer (D




. The total number of possible phase 3 o i Ried & o ST St
Q.No: 79 zsgtueemnciess for a three phase AC Rrbo &t P S %
A 0 0
B 1 1
C 2 2
D 3 3
Correct Answer |C

In delta connection, line currents lags

Soc] HARM H |, AR Hc el die I

Q.No: 80 behind phase current by R fie wEar g

A 30 degree 30 f&ilt

B 60 degree 60 f&ut

C 90 degree 90 &t

D 120 degree 120 f&ht

Correct Answer (A

Q.No: 81 Power factor of an electric bulb is faoTelt & Seq o1 UTeR B A9
A Lagging it

B Leading iRyl

C Unity gfAct

D Infinity iG]

Correct Answer |C

Q.No: 82 :\Ss;epper motor may be considered B A FY T ST TPl %
A dc to dc SRt 9 S

B ac to ac T Tt

C dc to ac SR ¥ wt

D digital-to-analogue fEofted § T

Correct Answer (D

Q.No: 83 ;rrr;i:;:::qgﬂsgse of using core in a mﬁﬁ%mﬂﬁﬂwm%
A decrease iron losses SORA A | H

B prevent eddy current loss TSl DI AN B AbT

C eliminate magnetic hysteresis Mfew R & gara o




D

decrease reluctance of the common
magnetic circuit

HIHT HIfed Bic & RATT Bl HH AT

Correct Answer

D

QN8 ey S e | e g 4
parallel? '

A Voltage glecs

B Internal Resistance e d oY

C Amp Hours g sy

D Current HC

Correct Answer |C

Q.No: 85 The electrical appliances in the home, |TR T ﬁ'c{ﬂ?l IS B Y JHR \_rﬁST
are connected Skl %‘

. I aralel i the ource o 11| g 3 o of s e 2

B in series with the source Hd & 1Y HE o

C jvc;?]etrl]gssitfseand some in parallel @H%Wﬁﬂﬁsﬁ?ﬁwlﬁ

D in parallel with the source Td & FHFEIR d

Correct Answer (D
Which of the following factors I W H T o9 A RS
2 Temperature of soil T

anorss PPl e DERRaE

SEIGED clS adl 5l

gﬁgsgﬁti/dof coal dus_t and charcoal in 22@3{2 %ﬁo@s TI% H Pl % SR
the earth electrode pit. Jorg

A a, b and c only Fad T, 3R IO

B a, cand d only WQ,@@T@

C a, b, candd T, o, ot 3R &

D a, b and d only Fad T, 3R S

Correct Answer |C

T LR s CTS LT
alternating current?

A Peak value & dg

B RMS value RTATY g




C Mean value HH ag
Peak value, RMS value and the mean ST 33
’ . FC & fau die deg, SIRUHTH
D value are equal for alternating !
current I 3R W 9 9 B
Correct Answer |(C
Q.No: 88 The coefficient of coupling is a factor | ®UfFRAT HURHAT a8 HRS § o
T used when two coils: IR fpaT SraT § o & Hiaed
A girreCLl;li‘ltutually coupled in a magnetic Wqﬁﬁﬁw@@%
B are connected in parallel THIR U ¥ IS §U §
C are connected with a wire IR & 91U IS §U &
D of same value connected with a wire WW%W?IWHW@\_{@%

Correct Answer

A

Q.No: 89 In a LC filter, the ripple factor: T fiheer |, Rud Hae:

A Increases with the load current dAIE B & 1Y Fedl g

B increases with the load resistance s IS & 1Y Fgar §

C remains constant with the load dre e F Q1Y GHM Ed 2
current

D has the lowest value gAdH Ilﬁ(a?g) /A1 8

Correct Answer |C

Q.No: 90 Surge absorbers are used for ol TEeTeR &1 U A 7 § foras

N9 protection against W& & forg grar 8

A High—vc_)ltage low-frequency ETsf IR & WHG SRR
oscillations

B Lovx_/-vo_ltage low-frequency N e @ WH iReRE
oscillations

C Lovx_/-vo_ltage high-frequency A qor fﬂ"ic S SRR
oscillations

D High-vc_)ltage high-frequency T A E’I'&F WS iR
oscillations

Correct Answer |(C

. Which of the following device is éﬁ@%ﬁﬁﬁyﬁ@rﬁqmm

Q.No: 91 . . e .
mainly used in DC drives? HOd: SUIRT BT § ?

A Transistor gifoReR

B Thyristor Y éli&?

C Diode SAS

D TRIAC [€Eca




Correct Answer

_ In which region a transistor acts as  |f%d &3 ¥ gifoRex & 3o+ Rga & &4
Q.No: 92 : :
an open switch? 7 Brf Bt g2
A cut off region FT B Ao
B inverted region gafés oA
C active region Ufdeq oA
D saturated region JaRes do

Correct Answer

A

Q.No: 93 Which of the statement is correct? g 7 o9 1 HYF T8 §?

A NAND and NOR functions are TAUEAS! 3R TSR TR HHgefed
Commutative and Associated 3R Q@ﬁlﬁ%‘s’ %

B Both NAND and NOR functions are | TAUEAS! 3R TSR ST oM =
neither Commutative nor Associative |HWgefed iR A1 & ToiRAes §

c NAND and NOR functions are TIUES! 3R T3NSR HhaRH TORACS &
Associative but Commutative W HEgefed gl §

5 NAND and NOR functions are TAUEAE! 3R TSR HaRM HHgLfed §
Commutative but not Associative q?ﬂ Q@ﬁlﬁ%‘s’ :IEDI %

Correct Answer (D

Q.No: 94 Karnaugh map is used HIRATEG AY IUTNT Bl &

A to minimize the number of flip-flops  |f&fTea Tfdhe # fGau-uaiy &t Twen
in a digital circuit TAdH B 8

B to minimize the number of gates only |%dd fefied Tfdbe & e &t T gATH
in a digital circuits X Bg
to minimize the number of gates and %ﬁlﬁﬂﬁﬁﬁfaﬁa{ﬁw%@ﬂ?

C the fan in requirements of the gates - 3
in a digital circuit 3R & 3! L & ferg

D to design gates e & f&argH %‘gl

Correct Answer |(C
If each successive code differs from wwd

Q.No: 95 its preceding code by a single bit gmmﬁ;? mﬁ?ﬁgﬁ?f%
only, then this code is called as ! &

A BCD code et dre

B Gray code DS

C Weighted code dce PIS

D Binary code CIERRECIE]

Correct Answer (B




Choose the correct statement in

Q.No: 96 connection with logic gates Fﬁﬁlﬁﬁ?}[%ﬁﬁﬁsﬂﬁﬁﬂﬁ?ﬁﬂﬂe{

A XOR is universal XOR JfaRud §

B XNOR is a basic gate XNOR 3Ri& e §

C XOR is derived gate XOR 3RIS e §

D XOR is a basic gate XOR aR¥& e %

Correct Answer |C

Q.No: 97 Fan-in an_d Fan-out are the -39 3R -age RAdvard &
characteristics of

A Registers IfoReR

B Logic families ATrore iHfers

C Sequential Circuits e Rua afde

D Combinational Circuit HIFIRAA Ffdbe

Correct Answer |B
According to the IC fabrication 3118 It Hfshe Ufshar & IR difoie

Q.No: 98 process logic families can be divided | Hfafers &1 2l g AR H dier o
into two broad categories as Thdl g oY P

A RTL and TTL JRETTA 3R Eitud

B HTL and MOS TIiud 3R THsHiTy

C ECL and DTL SHTd ok Sidtud

D Bipolar and MOS TPUIR 3R a3

Correct Answer (D

Q.No: 99 A decoder is a Th ShleX §

A Sequential circuit Ry Rra gfdbe

B Synchronous circuit Ry wfhe

C Digital circuit fsforea wfdbe

D Combinational circuit HIGIRAA Ffdhe

Correct Answer (D
The maximum noise voltage that ;

anor 00| Tovppsak e ot o2 b9 S iy s e 7
state of its output is termed as W fecertt

A Noise Margin BRI




B Noise Immunity gl gt
C White Noise CIEGE U]
D Signal to Noise Ratio BPERERSEIR RS
Correct Answer (B
Q.No: 101 Minimum NAND gates required to 81U TSR ¥ 99 &l AR HA 8 FAad
implement sum in half adder TAUEAS! ey P SMauehdl
A 2 2
B 3 3
C 4 4
D 5 5
D

Correct Answer

Q.No: 102 A n“!ultiplexer isf a logic circuit TP A IRR WW?@TCI ISRED
designed to switch I 9 &) g s 5q e smar @

A Single input to several outputs Thd 1Y T 3P 3HI3cYc & fag

B several inputs to single outputs 3P TYC § THd HT3CYe & forw

C Single input to single output Uehd 37Y¢ ¥ Uhd 3T3CYC & ol

D Several inputs to several output 3% TTYC I 31 3H3CYC b T

Correct Answer B

Q.No: 103 The fastes_t type of Analog to Digital T ¥ fefoed w-adk &1 digay ueR/
converter is HEL %

A Counter type CARECEL

B Tracking type E‘%‘T CIEL

C Successive approximation type IR TRIRIARE <8y

D Parallel comparator type TRl HHIRER GEES

Correct Answer

D

In a low-level AM system, amplifiers

o I AM JUTTet H, HISAcS SR &l

Q.No: 104 Ec;llowmg the modulated stage must SR PR AT TR e
A linear devices AR IuHRT

B harmonic devices BRUMM® ITHT

C class C amplifiers FTg I T

D nonlinear devices A1 AR Iuer

Correct Answer

A




Q.No: 105 In the spectrum of a frequency- Wiedl HiSYelcs 99 & WagH
modulated wave

A the carrier frequency disappears H@ﬁ%@%@@ﬁ@ﬂ%?ﬁw
when the modulation index is large EF?[W I B S §

B the amplitude of any sideband ot off Tsds & tkileas Aisyas
depends on the modulation index e R AR g g

C the total number of sidebands ﬂﬁ@é@ﬁwﬂwu@ﬁmﬂs@ww
depends on the modulation index R gl %
the carrier frequency cannot : :

D disappear SRR WIS Tt 8 gl

Correct Answer (B
Since noise phase-modulates the FM ﬁ[ﬁ? > ;

o= 199 Wol THUH dd § Sadd Hdl

Q.No: 106 wave, as the noise sideband g, 9 € Ao qrEess Wi HRW
frequency approaches the carrier uﬂﬁwaﬁﬁ% a‘ramwﬂas
frequency , the noise amplitude !

A remains constant AT Xgdl %

B is decreased &H 8 o1 8

C is increased §@ SIldl %

D is equalized ISR 1 AT &

Correct Answer (B

Indicate the false statement. In order

TTAd HYU I G | I DI HH A B

Q:.No: 107 to combat noise, ferg,
A Fhe channel bandwidth may be %ﬂﬁé@ﬁguﬁmww%
increased N
B redundancy may be used JeT3T &1 IuTT fHar &1 ghdn §
C Fhe transmitted power may be =TI E UfaR @Y ST S el %
increased ”
D the signaling rate may be reduced RufeiT Ye & &1 fear o Jedr §
Correct Answer (A
Q.No: 108 In order to reduce quantizing noise, | BTHCIZNIT AITT B HH HIH & AU
B one must HAg D %
increase the number of standard o ‘I‘Fﬂ'@;&‘? T W\v
A amplitudes 3!
send pulses whose sides are more WW@TWW@,@W
B .
nearly vertical [ERIRSIY
C use an RF amplifier in the receiver w H SRE® W B1 JURT fom
D increase the number of samples per ﬁwmmﬁmﬁq@ﬁ

second

Correct Answer

A




Q.No: 109 The biggest disadvantage of PCM is | fRRfiuA &7 Gad ST oM §

A its inability to handle analog signals | TATANT Tl &1 THTEA & rgHAdT

B the high error rate which its TABH] BT TSN Aael gRT Sa@d Ffedr
quantizing noise introduces P I R

C its incompatibility with TDM ISIUH & 1Y 3P AR
the large bandwidths that are Fefye g% AT &

D required for it. a:cﬁ M s ferg %

Correct Answer (D
A scheme in which several channels | T& dioHT fo 9 3 ERCARC RPN

Q.No: 110 are interleaved and then transmitted | (3cxdlIe8) b 3R THHAT ®0 J U
together is known as a1 SITaT 81 39 BT ST

A frequency-division multiplex Tl l-fefasq A Twe

B time-division multiplex TgA-fefaem aiway

C a group U g

D a supergroup RESERRL

Correct Answer (A

Q.No: 111 Time-division multiplex T1gH fSdioH A iey

A can be used with PCM only % T UGS 3 Ay FURT foha o
combines five groups into a v :

B supergroup uTe YRl 1 AR U YR g S §

C stacks 24 channels in adjacent Y T Wi Wie d 24 a &I gl
frequency slots CRIGI

b Interleaves pulses belonging to faftrd ciafiee & defa
different transmissions SAuiAd(Sediod)ucd

Correct Answer (D
The essential condition for total fied BrER & siiafe Rodae

. internal reflection to take place within 1 Tﬁ PPNV b

Q.No: 112 LS < e 2 gl | o9 sHey Wid g &
the optical fiber is when the incidence P T 3?1 ¥ o1 ar \‘:ﬂ?ﬂ%
angle exceeds the specified value of (d<9)

A critical angle fhdiemd TIa

B refraction angle e Tra

C reflection angle NoaRe Ta

D acceptance angle TRy W

Correct Answer

A




Q.No: 113 VLF waves are used for some types | & UHR &I Jarsil & U dueauw d0
of services because of &1 IYANT fbar Srdm g Hife
A the low powers required PH TlaR B IS 8l &
the transmitting antennas are of St G TS SHR :
B convenient size = ﬁﬁ & E’ﬁ %
C they are very reliable 3 9gd fayaaa g §
D they penetrate the ionosphere easily |3TIFRGBIER &I AT A Ve Thd &
Correct Answer |C
Q.No: 114 High-frequency waves are g8 Wied! 9d gldt &
A absorbed by the F2 layer T2 AR gRIT gid
B reflected by the D layer S R gR1 uRafdd
capable of use for long-distance o . AR i
c communications on the moon WWFI’@[@% H e
D affected by the solar cycle HieR gRfed ¥ gyifad
Correct Answer (D
_ Frequencies in the UHF range JuIU 3o § wiedl 9 arem ¥ Hadt
Q.No: 115 :
propagate by means of %
A ground waves I$HS 99
B sky waves T 99
C surface waves WHY 99
D space waves W 99
Correct Answer (D
. Choose the correct statement Jease GaR AP :
Q.No: 116 regarding satellite communications. %H‘q"i{f{ﬂﬁ$ﬂ:{ﬁ€ﬁ
If two earth stations do not face a e @
; 31 ¥IH UF JAH Yedse &
A Communicate via a dodble-satelite | S 61 €10, T 39 GewTee ¢ &
hop ared Y YUY AT 15T
Satellites are allocated so that it is dearge sTEfg TfF
B impossible for two earth stations not 3 @"\’F}ﬁ & mm - ‘eﬁa
to face the same satellite. e
c Collocated earth stations are used for |Wiedl SHARIE & U Bldidves 34
frequency diversity. WA HT IYANT fHar Sram §
A satellite earth station must have as QEFIB? 3 W & gy It Aa
D many receive chains as there are BT =1feT S & AR 39! Uftg
carriers transmitted to it. T g

Correct Answer

D




Q.No: 117 Criterion used for judging cd AHCIR B i & g SUYdd
appropriateness of tool software is Aucs g
A Functionality TraRfere!
B Scalability Whafaferdt
C Compatibility FHucfaferct
Security gt
Correct Answer (A
Q.No: 118 Linux is ﬁﬁ?ﬁr%
A Application software TGN H A AIHCaTR
B Word processor IS MR
C Database management system gleey Aeie e
D Operating software SHTRFET ioedar
Correct Answer (D
Which of.the following is n.ot an ¥ Y 91 ofaoTe s
Q.No: 119 2(tj)gli<;tpgrlented programming (OOPs) %(Gﬁ?’ﬁtﬁ) Yoo et
A Encapsulation Qﬂ%@gﬁm
B Polymorphism TreiaTthe
C Exception QH@T—‘ZFT
D Abstraction TIRCHRA
Correct Answer |C
Which feature of object oriented 3fgoide 3Nfdcs URRIHT(3N3Ndh) &1
Q.No: 120 programming (OOPs) described the | &9 I M HIs Rgwifaferdt &) ufuifa
reusability of code? HAT &
A Abstraction TR
B Encapsulation QHWW
C Polymorphism TreftaTfthe
D Inheritance BRG]
Correct Answer (D
Which feature of object oriented 3figolge fifvdes W(Bﬁm) hl

Q.No: 121 programming (OOPS) derives the DI T AW UH A O gus] A &l
class from another class? IECARGIR

A Inheritance BRG]
Data hiding TeT BIRfeT

C Encapsulation THHGARA




D

Polymorphism

Correct Answer

A

Which operator from the following 70 ¥ D I TR BT NAHIBH B
Q.No: 122 can be used to illustrate the feature |fa=5dr & gRHIRG B & fow I
of polymorphism? foar o gbdr &
A Overloading << MNIRANST <<
B Overloading && SMERATET &&
@ Overloading || SNERANET ||
D Overloading += SNERANET +=

Correct Answer

A

Q.No: 123 Which member of the superclass is UK DT D I I J9-FAT B
Y never accessible to the subclass? Ft off Suas TS @
A Public member st Jad
Protected member icacs e
C Private member UIgde 9
Both (Protected member) and | (SORRE Tl TSI Jo
D (Private member) <l ( )Gﬁ? ( )
Correct Answer |(C
A region of negative differential fafrepTT TIu SiaeF ¥ B dedw
Q.No: 124 resistance is observed in the current |3y opres & 30 fewiRmd YRR
voltage characteristics of a silicon PN T &5 ToR STl % oty
junction if
An intrinsic silicon region is inserted F FoT 9k ;
_ T Ao & 7 Efelis
A between the P-region and the N- v s
region ISINCAE R ERSISIRCIRI
B The P-region is heavily doped T AoF & a1 | 0t Id5F ofds &9 ¥
compared to the N-region 19 fpar Srar §
C The N-region is heavily doped ﬂﬁmﬁmﬁmﬂmmwﬁ
compared to the P-region ST foar Srar %
b Both the P-region and the N-region  |aHI Ot I 3R T SvH & 31fd% =4 9
are heavily doped SIY foar o §
Correct Answer (D
Q.No: 125 A zener diode is used as IR SIS BT IUTNT fHar St 8
A an amplifier Th TEHRR
B a multivibrator TH A aigsc
C a voltage regulator & dlees ?‘gaai
D a rectifier T YACIBIaR




Correct Answer

Q.No: 126 Photo diode is normally: I Biel SIS §:

A Forward biased BRIS TS

B Neither forward nor reverse biased |9 HRds dU%S 7 &l Rad TS

C Reverse biased IRCRACI L

D Emmitting light qfifd drge

Correct Answer |C
Which of the following statements Ahe (TH3Tguphsel) & feu g # 9
are INCORRECT for a MOSFET £ T HU T 2

P: As channel length reduces, OFF-
state current increases.

Ut S oFd oY HH gt 8, 3T Te P
e gl

Q.No: 127 Q:As channel length reduces, output ;Va%: aﬁé- ?I%IW‘@F?[%, d

resistance increases. 3 %l.
_ IR: I A T HH BN &, IS

R: As channel length reduces, e :
threshold voltage remains constant. ﬁé Hr E%E.I ' o .
S: As channel length reduces, ON | ST T HH el §, 3 Bie
current increases. §Gdl g

A Rand S 3R 3R TH

B QandR T 3R 3R

C Pand S b 3R T

D Pand Q f iR g

Correct Answer (B

Q.No: 128 In order to realize a current amplifier, |®HYc T@IHRR &I RIS H3- & g,

e the desired feedback topology will be | 3{d%a® Bigdd clUidol

A Series-series TiRS-Hifet

B Series-shunt GIeT-2ie

C Shunt-shunt Yic-RC

D Shunt-series Te-dive

Correct Answer (D
Which of the following oscillator can |FEH ¥ S I Giﬁaa PT IUANT fopan

Q.No: 129 be used, where high stability of STdT gobdT §, Sel Wied! o 3= Rilddd
frequency is required? Al GHEW% ?

A Crystal oscillator freed siifteR
Wien Bridge Oscillator oo T SiiRiceR

C Hartley Oscillator BIed 3MRyaer




D

Colpitts Oscillator

|aﬁaﬁsﬂaﬁw

Correct Answer

A

Q.No: 130 When amplifiers are cascaded? TRBRR B H HRGSS fHaT ST 872
A The gain of each amplifier is Wﬁ@ﬁm%ﬁ?ﬁq@ﬁﬂﬁﬁ%
increased
B A lower supply voltage is required ARl @ I MaTHdl §
C The overall gain is increased 99 19 ¥ 9fg gt B
D Each amplifier has to work less TP TRTBRR B HH HTH BT gidl §
Correct Answer |(C
Which type of special purpose diode fed oiR Tfideaes B qrem 9 frg
Q.No: 131 is formed by a metal and 29 3 3
semiconductor? # 31 ol 8
A Schottky QCeh!
B Varactor G
C Tunnel cAad
D Zener SR
Correct Answer (A
Which of the following statements is TEHURER SN :
Q.No: 132 false in respect of 8086/8088 %O%if/%?%gm I 22 & Wy H T
microprocessor? ’
A These processors have identical 9 TRRR & T Wil TR MThiedR
internal architecture g gl
B They differ only in external signals 3% TaeHd e i g €1
The 8086 has 16-bit external data : W
C bus and 8088 has an 8-bit external 2822 g é%@iﬂﬁ?ﬁﬁ @%aa:g@?r%l
data bus.
The 8086 has 8-bit external data bus : W‘Tﬁ
D and 8088 has an16-bit external data 8086 g 8 1%'1%?{ maa oY th?ﬁ %
bus. 8088 H 16 GRS [
Correct Answer |D
Q.No: 133 Th_e 8086/8088 is a bit 8086/8088
microprocessor foe
A 8 8
B 16 16
C 24 24
D 32 32
Correct Answer (B




Which of the following statements is

gluqu & ded # o9 91 HYF I8l §

correct in respect of DMA (Direct (STREE HURT TRN)?
Memory access)?
T) SITHY Y9R 3R S[eT TR $I Th
a) DMA is a process of communication | gfgyy % S fF Q?HE‘FT?I aﬁw I fafa
or data transfer controlled by an ARSI %I
external peripheral
o) ST heleR ST BT Held HRal §
b) DMA Controller takes control of the ‘. Tigen >
Q.No: 134 buses and transfers the data directly mg? i ok & e
between source and destination. =
c) DMA controller is a processor ;ﬁ) ng% %I l é Eaﬁz U R {§Gﬁ P
capable only of copying data at high 3= SICT I TP & QIRT T
speed from one location to another W B B T eH ?”
location.
1) SITAT Teb 3175/ 3 Teiteh § Wil
d) DMA is an I/O technique commonly | SHRId: 3= TIfd STCT B TWR B |
used for high-speed data transfer. SUANTd Bieht
A a, b and c only Fad T, 3R I
B a, cand d only Fad T, AR S
C a, b, candd T, &, I R
D a, b and d only ao_cﬁfll,ﬁff 3R &
Correct Answer |(C
Which of the following are
considerations for microprocessor m A ISSIER] ¥ forw o oY
memory design? BT o1 T T 22
Q.No: 135 a) Memory size and memory map ) ﬁ'ﬁﬁﬂw ah? AR A
b) Future expandability ;?; 2
c) Memory access time
A a only Had U
B c only Fad I
C a and b only Fad T R &t
D a, bandc T, o 3R &t
Correct Answer (D
Q.No: 136 Which of the following statement is | HISHIUENR S TR & Iy & Ay
applicable for Microprocessor based | & ¥ $I9 § &Y AN &
applications
0) 1 W Aeiwias fowd o, U
a)In scanned multiplexed display, Tdsel g AT 33; S

each seven segment LED is turned on
and off sequentially. The cycle is
repeated fast enough that the display

HHATIR
%lﬂﬁ%aﬁeﬂawﬁrﬁmw%
arfes =xg w18 |




appears stable.

b) Interfacing a liquid crystal display,
LCD is used where low power
consumption is necessary.

¢) Interfacing a matrix keyboard with
20 keys, the key board has five rows
and four columns.

) forfebs fbeed fSoad & $exby & forg,
TIS! T IUANT a1 ST § Sigl BH
UiaR & @Ud P TS gl

) 20 P aTe RGRI AR FAS &
?ﬂ,ﬁ&‘l‘s‘ﬁﬁaﬁaﬁ?aﬁﬁwaﬁ
|

A a and b only WQ@T@[
B b and c only Fad o R
C a, bandc T, &t 3R

D a and c only WE@T@

Correct Answer

C

In a broadcast superheterodyne

Q.No: 137 receiver, the FSPHRE YAReISE_T RIR H,
A local oscillator operates below the Aipa 3fRycer RHd wied! ¥
signal frequency 3HTqRe HaT1 §
B Mixer input must be tuned to the R 39ge &1 ReHa Wi § dgaH
signal frequency ggdi %’
c local oscillator frequency is normally | eed 3iMRIceR Wi JHIT: 3MSUH
double the IF 1 g oIl §
RF amplifier normally works at 3RUB TRIBRR GG R Bierd!
D .
455kHz above the carrier frequency | 455 HUIuie TR BT Hdl &
Correct Answer (B
The local oscillator of a broadcast Siehre AR &1 AHd 3HRIde B
Q.No: 138 receiver is tuned to a frequency SIBIET Wil I D Wibd! IR A
higher than the incoming frequency a1 Sirar %
A to help the image frequency rejection |38 Wied Roa¥H § Ig™dl #34 & fag
B to permit easier tracking T i Y 3rafa & faw
C because otherwise an intermediate FifP TP JafARGd Th FeHifse
frequency could not be produced it UaT gl 1 off Tebal!
b to allow the adequate frequency fa fRafi foru vafw Wi Havs &1
coverage without switching 3gafd <A & fow

Correct Answer

D

In electromagnetic waves,

Q.No: 139 polarization 3@3@1@% Io8 H, TIeRIE I
A is caused by reflection Rpdee ¥ I gl §
B is due to the transverse nature of the I ¥ ‘;’Iﬁﬁ 5@% F BRI 2
waves
C results from the longitudinal nature of |dq & Wifilegfe-a UHfd &1 TR §




the waves

D ins']:(ljman;’/]s vertical in an isotropic mm g § AR e g %
Correct Answer (B
As electromagnetic waves travel in : sﬁﬁ% et ¥
Q.No: 140 free space, only one of the following g_?% 3 B:Aliblf Wéa l;h‘;xg;ﬁ 3 %’
can happen to them T®
A absorption QHGT@\"QH
B attenuation LE ORI
Cc refraction RSN
D reflection IRCZNENE
Correct Answer (B
When microwave signals follow the
o 9 A1ShIad RIHd gedt & HaeR & diaT
Q.No: 141 curvature of the earth, this is known :
o a8, A 39 Bl Sl 8
A the Faraday effect T BRIS 3hac
B ducting SfgeT
C tropospheric scatter AORRING Wrex
D ionospheric reflection IMHFRRING Rbearq
Correct Answer (B
Q.No: 142 The tunnel diode TId TS
A has a tiny hole through its center to | AT &I JH &1 & T s A o
facilitate tunneling T ©¢ gl §
B is a point-contact diode with a very % Uise Plcde SAS % et feadt
high reverse resistance AR 55 o §
c uses a high doping level to provide a |=RI SiaRH IUA FXM & oW I ST
narrow junction WWG‘E@HW%
works by quantum tunneling 3 ' NS . Wam GTI?IT&? G‘% 53
D exhibited by gallium arsenide only Ell
ST B
Correct Answer |(C
Q.No: 143 Waveguides are used mainly for T3hidd REMa & fam JBd: JJES &I
R microwave signals because IuanT foean ST § i
they depend on straight line a@wmwﬁl&%\?ﬁ%
A propagation which applies to %%1' TEHEE W %
microwave only arg
B Losses would be too heavy at lower |didR Wighdl TR AP 81 Bl &

frequencies




there are no generators powerful 37T TR HH S ) ORd B

C enough to excite them at lower o qg‘ TGDT% 37]%112
frequencies. HTARGP qlavpd

D They would be too bulky at lower I8 AR WS W i v &

frequencies.

Correct Answer

D

Q.No: 144 A duplexer is used WWW@W%
to couple two different antennas to a ETAL L AT

A transmitter without mutual ngﬁgmam 3!
interference = ;
to allow the one antenna to be used AT @) RAW a1 e

B for reception or transmission without Qﬁi” % gT&{ﬁ'qﬁ[ a:”% ferg
mutual interference Jdq
to prevent interference between two T § Sexop¥ Y AT

Cc antennas when they are connected to o %ﬂ?@ﬁﬁé g ! vl
a receiver R :

D to increase the speed of the pulses in Teg TSR F Ueq # T $) gl B Rw

pulsed radar

Correct Answer

For handling high powers, the best

1% U o BTSfiT 3 forg, wlrem

Q:.No: 145 transmission medium is SIOfieE A1y §

A stripline SIS

B microstrip Iﬂ's;ﬁ'@'q

C rectangular wave guide W%Tﬂﬂg

D coaxial line aﬁqﬁaur—r NIESE

Correct Answer |C

Q.No: 146 An ungrounded antenna near the U3 & THIT AISfeS T
ground

A acts as a single antenna of twice the ST S & TH CHI & 9 T SR
height HAT &

B is unlikely to need an earth mat T ST BT JHTIRISHal Aal gt

C acts as an antenna array WHTWR P =0 & B Har g

D must be horizontally polarized gItSlicd ¥4 H UiaRTsss g

Correct Answer |C

QNo: 147 | o ant antennas? | i o Y G e &7

A The rhombic antenna e T




B The folded dipole Bies SRUd

C The end-fire array TS-BRR W

D The broadside array Feass W

Correct Answer A

Q.No: 148 which of the following antenna is g & ¥ SH W1 T IR TeRES
circularly polarized? %?

A Yagi-Uda grfi-S& el

B small circular loop Wﬂéﬁﬂ@

C parabolic reflector e Noaer

D helical RINEZ]

Correct Answer (D

Q.No: 149 A helical antenna is used for satellite RENIEH b o Rferra G IUAhT gran
tracking because of its g Hife

A Circular polarization THeR TR

B Maneuverability AgRfaferct

C Broad bandwidth e dsfagy

D Good front-to-back ratio 3T The ¢ o XN

Correct Answer A

Q.No: 150 The pitch of the sound is related to |13 s &I U Jafid @

A Amplitude SIS

B Intensity EE RG]

C Frequency PR

D Loudness ISR

Correct Answer |C




